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uusurdsLhe
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Spbbuwlwl uhnnypubp, nywgpuiut

wuypuiipbbn i bynuyek, gnpkR
30197622  |enune, A4 Snpdwinh Q< Lg 600,0 1000,0 600,0
30197646 |pnwne' A3 bnpdwinh qc la 700,0 1.5 8,05
30197650 |pnine' obubipwhu Q<L Lg 700,0 2,0 1,4
30197647  |pnine' obubpwhl, 60q q< Ya 900,0 43,0 38,7
30197648  |pnine’ odubipwihu, 120q < Yg 1 050,0 100,0 105,0
22991190  |Ywybwuwwn pninp < Ug 1200,0 150,0 180,0
30197621 $ihwswpunh pnine q< g 2300,0 2,0 4,6
30192740  |pnine gniiwdnp, A4 &luwswihh q< g 1400,0 1,5 21
30199400  |unutdwuwuinywd Ywd Yusnt pnine qg hwin 50,0 80,0 4,0
30063200 |AMWHEUIAULIRY Ghnp, dunyu, 70-200%s, ac huitn 650,0 70,0 455

wnnuwh, uuhuwy Eetipny
30192130 dwwnhwntbn q< huwin 50,0 300,0 15,0
30192100  |ntinhU hwuwpuly 9L hwun 100,0 175,0 17,5
30192133  |uphsubip 9< huwtn 100,0 90,0 9,0
30192121 aphs qunhlywyjnp < hwin 100,0 570,0 57,0
30192121 gphs qunhywynp < hwwn 100,0 195,0 19,5
30192121 |qphs qunhywynp 9< hwtn 100,0 375,0 37.5
30192128  |gqphs gbjwhu Q<L hwwn 200,0 290,0 58,0
30192128  |qphs qlwihu Q< huwtn 200,0 70,0 14,0
30192128  |gphy glwhu Q<L hwtn 200,0 13,0 2,6
39263410  |wdpuwl, thnpp Q< wntth 150,0 100,0 15,0
39263420 wipwl, UGS q< uinith 250,0 2,0 0,5
30192125 dwplybputip QL hwun 120,0 120,0 14,4
30192125  |uwplybputp qc huin 200,0 113,0 22,6
30192160 aunphhuubp < huwuwn 200,0 120,0 24,0
30199420 jeninje upnuiutiph hwiwp, unuudywdpny < hwn 150,0 220,0 33,0
30199430  |pninp upnulubph, npgwlubpny < hwtn 700,0 90,0 63,0




30192710 {unubiGwdwwhun, gpuaubljwluhu G< hwin 250,0 40 1,0
30192710 |unubidwdwwnhn, gpuiubljwlywhl < hwtn 300,0 150,0 45,0
24911200  |unuptd, Ednyuhw ac g 1300,0 57,0 74,1
30197231 prewwwlwl, wnhdbipwiht punwie, Swi Q< hwn 10,0 3800,0 38,0
39241210 dlpunn, gpwubUjwlwhu Q< hwn 300,0 30,0 9,0
39241210 dypwin, gpwubljwywhu q< hwwn 450,0 2,0 0,9
30197112 Yuphsh dbtnwnwiwpb Yuwwbp, dhoht Q< wnnuh 120,0 160,0 19,2
30197100  |Ywphsh dbwwnwiwpb Yuwtp, d6d < winth 350,0 10,0 35
30197321 Ywphs, dpts 20 plipeh hwdwp Q< hwn 550,0 10,0 5.9
30197340  |wuywlwphs a< hwwn 150,0 15,0 23
30197233  |pnpwwwuwl, phiny, pnrjw QL hwuwn 100,0 285,0 28,5
30197234  |prRwwwuwl, Yo Yugunyg QL hwin 700,0 70,0 49,0
22851200  |pnrwwwuwlubp Q< hwwn 150,0 2,0 0.3
22851200  |pnRwwwlwlubp q< hwtn 800,0 20,0 16,0
30197232 |ppwwwbwl, wpwquluwp, prRW < hwwn 80,0 4 410,0 352,8
22851100  |wpwgwlwnpubip Q<L hwn 70,0 50,0 3,5
39241141 nubiwy’ gnuubljwlwhu < huutn 120,0 30,0 36
39241141 nwiwl' gpwubtjuwlwihu q< hwn 150,0 15,0 2.3
30192230 uljng’ Gpyynndwih unutdywsd QL hwwn 150,0 30,0 4,5
30192230  fulng' Gpyynniwth unutidywsd q< hwtn 300,0 20,0 6,0
30192231 ulyng gL hwuwn 50,0 30,0 1.5
30192231  |uyny qc huwn 150,0 25,0 3.8
30192231 ulyny QL hwn 450,0 65,0 29,3
30192232 |ulng pnRjw q< hwn 400,0 16,0 6.4
39263510  |ubindwl, thnpp qc hwn 15,0 300,0 4,5
39263530  |ubndwl, dbd 9L hun 20,0 150,0 3,0
30192780  |kowpwdwhs 9L hwwn 200,0 14,0 2,8
39292510 pwunt, wjwuwpy q< hwtn 120,0 10,0 1,2
30141200  |hwpywuwnp, gpuubbjwluwihu q< hwwn 3 000,0 21,0 63,0
39263100  |gpuubljwlwht nuljuqd Q< huin 1600,0 12,0 19,2
30192131 Ubfuwtihlulw Yuad upgnn dwinhuinbibp QL hwtn 1500,0 3,0 4,5
30192131 |dbjuwuhlwluwt Yuwd upynn, dwinhuubp q< hwn 200,0 15,0 30
30192131 |dbjuwbhlwlwl Yuwd upgnn dunhwnlbp G< hwun 200,0 18,0 3,6
30192135  |qpw$hunb dhontly, dunhinh hwiwp QL wnh 70,0 20,0 1,4
22811150  |unpwunbitnpbin q< hwuwn 1000,0 9,0 9,0
22811150  |unpwwbnpbp G< hwwn 2000,0 5,0 10,0
22811150  |unpwwbwnpkin Qg hwwn 250,0 60,0 15,0
30199792  |opwgnyghp 9L hwn 2000,0 5,0 10,0
22811150 unpwwnbunpbp q< huwtn 2 400,0 8,0 19,2
30199792  |opwgnyghp Q< hwin 800,0 1,0 8,8
39263320  |opwgnyg, wwuh Q< hwwn 1 000,0 14,0 14,0
30195920  |dwquhuwlwl gpunwiunwlubp QL hwwn 20 000,0 2,0 40,0
39292120  |gpwwnwiunwlubph dwpphgubip < hwwn 700,0 24,0 16,8
30195700 :&“‘u";‘:‘u“’nz;“u‘j‘;i’r“h twpniiwl hunjwpusbniitin < huwn 750,0 1,0 0.8
39831274 Eypwh dwppdwl Ujniplin < hwwn 1 000,0 1,0 1,0
30192127  |gpswuwnnuhbp q< hwn 600,0 9,0 5,4
30199238  |uwdwyp dpwp, A6 dlwswihh Q< hwn 12,0 100,0 1.2
30199230  |uwdwlyp dpwp, AS dlwgwiph q< huin 25,0 100,0 25
30192154  |Yuhph ipwgmghs pwpdhlubip QL hwwn 2300,0 2,0 4,6




37821190 |qdwgpuiwuintbil (Yuilw) R4 Utwnp 120,0 80,0 9,6
35821400  [npngubip < hwn 7000,0 10,0 70,0
30192320  |wwyhsubiph dwwwybuubp 94 hwn 5200,0 4,0 20,8
30197511 unjwpuwpninp q< Ug 1100,0 300,0 330,0
22611400  |ubpybip tnwwgpwlwu depEuwubph hwdwp < Ug 8 000,0 2,0 16,0
22611400 ubplybp nywgpwljw dbpbuwutiph hwdwp 9L lg 8 000,0 2,0 16,0
30192760 pnudyhupy QL pd 2 000,0 150,0 300.0
42991160  [nwwgpwlwl uwppbph dwubp U wwpwgwubp q< hwwn 50 000,0 1,0 50,0
22451210 |nhuyndubp uu hwn 2700,0 1500,0 4 050,0
22111120 gpunuwpwuh gppbin Q< hwtn 22 000,0 2,0 44,0
2111120 [gpwnwpwuh gppbip 9< hwtn 15 000,0 2,0 30,0
30197622 |eninge, A4 $npdwinh < la 600,0 60,0 36,0
30192130 dwwnhuinubip G< hwn 50,0 7,0 0,4
30199430  |enune upndubiph, npgwlubipny G< huwin 700,0 4,0 2,8
30199420  [enunpe upnuwiutiph hwdwn, unutdywépny < hwn 150,0 6,0 0,9
30192100  |nbwnhb hwuwpuwl < hwn 100,0 4,0 0,4
30192133 uphsubip 74 hwn 100,0 3,0 03
30192121 gphs qunhlwynp Q< hwn 100,0 2,0 22
3019211 anhs gunhbwynp < hwun 100,0 3,0 0,3
30192121 aphs qunhluwynp q< huwtn 100,0 6,0 0,6
30192128 |qphs qhjwjhu q< huwtn 200,0 25,0 5,0
30192128  |qphs qbuwhu Q< huwtn 200,0 12,0 2,4
39241141 nuwwl’ gpuubtywlwihu QL hwtn 120,0 3,0 0,4
39241210 dypwn, gpuubtjwyuiht 9L hunn 300,0 2,0 0.6
30197322 |Ywphg, 20-50 phpeh hwdwp 9< hwwn 1500,0 2,0 3,0
30197323 |Yuwphs, 50-hg wybih phpeh hwdwp Q< hwwn 6 500,0 1,0 6.5
30197112 Ywphsh deunwnwjwpb Yuwbp, dheht q< wintth 120,0 4,0 05
30197100  |Ywphsh danwnwiwpt Yuwbp, dbd &< wintth 350,0 4,0 1,4
30192160  |awnphfulin 9< hwn 200,0 3,0 0,6
30192710  |unubdwdwwnhw, gpuubiyulwihu q< hwun 300,0 2,0 0,6
30192131 |dbfuwuhlwlywl Yud upynn dwinhintbp < hwn 200,0 5,0 1,0
30192135  [gpwdhwnt dhgnly, dwnhunp hwdwp 9L wnh 70,0 5,0 0,4
30197231 |pnpwwwiwly, wnhdbpuwht punwup, $uy 9L hwn 10,0 300,0 3,0
30192125 dwnlbpubp Qg hwuwn 120,0 3,0 0,4
22811150  |unpunbwntp q< hwtn 250,0 5,0 13
30192780  |bowpwdwuhy L hwin 200,0 4,0 0,8
39263510  |utinuwy, thinpp q< hwn 15,0 48,0 0,7
39263520  |ubndwl, dhohl QL hwwn 15,0 48,0 0,7
39263530  |ubindwy, Ubd Q< hwn 20,0 48,0 1,0
30192127 gpswnnithbip q< huwin 600,0 2,0 1,2
30193200 |MwunwRnRnh hutdup uuintiudus, 9 hun 2500,0 2,0 5,0
ubinwp dpw npdnn nwipwlyuwgwptp
22851200  |prpwuwwlutp q< hwin 800,0 2,0 1,6
30141200  |hwpqwuwpp, gpuubljuluwhu q< hwn 3000,0 1,0 3,0
30197622 pnine, A4 $npdwinh 9< Yg 600,0 50,0 30,0
30197622 pninp, A4 $npdwinh g< hwn 800,0 20,0 16,0
30199420 Enune Uznwiubipnh hwdwp, unuudywadpny < hwuwn 1300,0 20,0 26,0
30192114  |pwuwp, Yuhph pwpdhbh hwdwn gL hwtn 350,0 5,0 1,8




39265100  [Ltimhlubip U onuiubip qc hun 780,0 10,0 7.8
30141200 [ hwgyuuwnp, gpuutijwlwht < hwtn 3000,0 3,0 9,0
30192121 |qphs qunhlwinp 9< huwn 120,0 50,0 6,0
30192130 |dwwnhwnubp 9< hwin 800,0 10,0 8,0
30192133 [uphsulip 9< hwin 180,0 20,0 3,6
30192100  |nbwnptu hwuwpwl Q<L hwun 240,0 20,0 4,8
39292520  |pwunt' Gnwulniup 9L hwn 290,0 10,0 2,9
30192125 |dwnlybiputin &< hwtn 320,0 10,0 3,2
30192125  [uwpltipubp 4< hun 400,0 10,0 4,0
30197322 |Ywphs, 20-50 pipph hwdwp QL huwin 2720,0 5,0 13,6
30197112 |Ywphsh dbinwnwiwpt Guwbn, dhoht < wntth 120,0 20,0 24
30197340  Jwwwlwphsg < hwwn 150,0 5,0 0,8
39263410  |wdpwl, thnpp qL wntth 150,0 10,0 1,5
39263510  [ubinduwl, thnpp a< huwin 15,0 360,0 5,4
39263520  ubdwly, dhghl Q< hwuwn 15,0 360,0 5,4
39263530  [ubindwy, Uk Qg hwn 20,0 360,0 7.2
39241210 dypwwn, gpuubyywljwhu QL hwwn 500,0 10,0 5,0
30241141 |nuitwl’ gpuublywlwihu q< huwitn 400,0 10,0 4,0
30197333 [nulhs thnpp ac hwin 1800,0 30 5.4
30197120  |ynbquidubip ac unith 180,0 10,0 18
39292120  |gpwwnwiuinwyubph dwpphsubp < hwn 350,0 3,0 1,1
39292110 gpwnuwfumnwyubp Qg hwn 20 000,0 2,0 40,0
aoroagop | MeinRnRlnh huduin Uhiunbudud, ac hun 25000 6.0 15,0

ubinwp ynw npynn nuipwlwwnbip
30192160 2wnphpfuubp QL hwin 350,0 10,0 35
30197234  |prnewwwuwy, Ynan Yugdny q< hwtn 700,0 10,0 7,0
30197234  |pnewuwtwl, Ynpin Yuquny 74 hwtn 700,0 10,0 70
30192231 ulyng Q< huwtn 100,0 30,0 3,0
30192710  |unuudwdwwnhwn, gpuubtywlwhtu Q< hwwn 180,0 10,0 1,8
30197622  |pninp, A4 $npdwinh QL g 600,0 10,0 6,0
30197650 |pnine’ obubipwihu Q< Ug 650,0 5,0 33
30192121 aphs qunhlwynp Q<L hwuwn 100,0 24,0 2,4
39263410  |wdpwl, thnpp ac wnith 150,0 15,0 23
30192130  |uwnpwnubip < huwtn 50,0 10,0 0,5
30192125 dwplybpubip Q<L hwn 120,0 5,0 0,6
30192100  |nbwnht hwuwpuwl < hwn 100,0 3,0 0,3
30192133 |uphstbip a< huwn 100,0 3,0 03
30197231 pnewwwuwl, wnhdbpuht pwnwie, $u| Qg hwtn 10,0 300,0 3.0
30197234 pnRwwwuwl, Ynawn Yuqdny qc huwin 700,0 5,0 3.5
30192231  |ulny < hwn 150,0 2,0 0,3
22811150 unpwwntitnpbn q< hwin 250,0 20,0 5,0

7 664,6

Cunfwlwpgsuiht nbluthw,

ujwhbuwnuniwubp
30211190  |wuduwlwl hwdwlwpghsutip QL hwn 286 000,0 1,0 286,0
30211200  |pynupwlhp hwdwlwpghsbip qc hwtn 364 400,0 1,0 364,4
30211200  |nympwlhp hwiwlwnghsutp 9< huwwn 400 000,0 1,0 400,0
30239100  |wwwébuwhwldwl Jtpbuw 9L hwwn 190 000,0 2,0 380,0
30239100  |wwwnbbuwhwidwy depblw < hwn 110 000,0 1,0 10,0
30239100 |wwunbbuwhwudwl dGpbuw Qg huwin 90 000,0 1.0 90,0




30239100  |wwuwnbbuwhwuiwl dGpbklw < hwin 90 000,0 1,0 90,0
30237490  |hwdwlwnagswht Unthiinp q9< hwn 65 000,0 3 195,0
30239100  |wwwnbbuwhwidwl dbptuw q< hwwn 190 000,0 1 190,0
30211190  |wbdbwlwy hwiwlwpghsubip 9L huwtn 240 000,0 6 1440,0
30239100 |wwwbbuwhwudwl dapbuw Q< hwin 90 000,0 1 90,0
hwyunuwpbpdwt bYnpulwt
31641100 um‘n . qﬁn['“ m:l Ty a< huin 8.000,0 1,0 8,0
3i64ni00 | MAMnuwptUWL Bl ac hun 4000,0 1,0 40
uwppuwinpnudubp
30211250 wfuwnwupwihl Yuywu 9L huin 13 000,0 1,0 13,0
30234640 | $(t hpgnnnyeyniu, 16GB a< hwn 5000,0 6,0 30,0
30236100 | "oubusnagh bhanniepnilp dkougling ¥ hutn 42000,0 2,0 84,0
uwppbp
soaagion | MUmetpenesh hipnnipndin iSughng a< huwitn 30 000,0 5,0 150,0
uwnptip
30236100 | Mwwtungsh hhonnnueniup diuiglinn a< huwn 15 000,0 30,0 450,0
uwnptip
30236180 |Cuiwinhu hhannntpuli pupintn ¢ hwn 18 000,0 15,0 270,0
(Ubpwghtn, iknwnpnud)
31221230 Uhwguwt dwynijuttp 9L hwwn 25 000,0 10,0 250,0
31221230 | Uhwguwl dwjniuttin < huwtn 40 000,0 1,0 40,0
44163250  |dhwlghs /ynutiljinp/ wdpwgling uwpp L hwn 20,0 1500,0 30,0
44163250 dhuwlghs /ynubinnp/ wdpwgunn uwpp q< hwin 10,0 100,0 1,0
31651400 dkyniuhy dwwjwybuutbp < hwin 150,0 30,0 45
44511240 | wpguititbip Q<L huwtn 2000,0 2,0 4,0
44163250 dhwlghs /Ynubiinnp/ wdpwgunn uwnpp Qg hwuwn 12 000,0 1,0 12,0
31681700 pwdwuwpwp wnih q< hwn 10 000,0 10,0 100,0
31681700 pwdwwpwn wnnwh 9L hwwn 5000,0 5,0 25,0
31221230 dpwgdwt Jwiniuubp gL hwwn 1000,0 20,0 20,0
31221230 dhwguwt dwiniulibip Q< hwn 1500,0 10,0 15,0
30237460 hwiwlwpgswihu unbinuwownbn < hwn 2500,0 30,0 75,0
30237411 |dyuhy, hwdwyupggwih, jwpny 54 huwn 2000,0 30,0 60,0
30237113 Ynublinnp (Ygnpriutin) a4 hwin 5000 4,0 20,0
30121460 wnubipwih pwpunphgubip QL hwn 2500,0 10,0 25,0
30121460 inutipwiht pwpunphgutin Q< hwn 2500,0 5,0 12.5
30121460 | nnubpwiht pwptphglibip qc hwtn 2500,0 20,0 50,0
30121460 | nnubipuwjht pupinphobip g< hwin 6200,0 3,0 18,6
30121460 wnnubipwjhu pwpwnphgubip aL hwtn 5 400,0 3,0 16,2
30121460 wnubpwjh pwpunphgubip 9L hwwn 2500,0 20,0 50,0
30121460 innubipwyhls pwpnphgbin qg hwwn 3000,0 5,0 15,0
30237200 hwiwywpghsubinh wwpwgwubp < hwn 6 000,0 2,0 12,0
30237200 hwiwlwpghsubiph wwpwagulbp 9 huwtn 900,0 20,0 18,0
30237200 hwdwlwnpghsutiph wwpwquwubnp < hwin 840,0 40,0 33,6
30237200 hwdwlwpghsubph wwpwgwubp 9L hwn 840,0 40,0 33,6
30237200 hwdwywnpghsubiph wwpwquwubp QL hwn 1500,0 10,0 15,0
30237200 hwiwlwpghsubinh wwpwgwubp q< hwwn 990,0 10,0 9,9
30237200 | hwdwlwpghsubiph wwpwgwubp < hwn 1200,0 5,0 6,0
30237200 | hwdwlwpghsubiph wwnwgwutip qg huwin 1800,0 2,0 3,6
30237200 | hwdwlwpghsubnh wwpwqwlbip e huwn 2600,0 10,0 26,0
30237200 hwdwlwnghsutiph wwpwguwtn QL hww 1600,0 15,0 24,0
30237200 | hwdwywpghsutinh wwpwgwutp < hww 5500,0 4,0 22,0
30237200 | hwiwlwnpghsubinh wuwpwgubp 9< hwwn 1500,0 5,0 7,5




30192320 | wuyhgubiph dwiyuibtiibn o huwn 2000,0 10,0 20,0
30192320 | nuyhstbiph dwiuyutiuttp 9¢ huwtn 1200,0 13,0 15,6
30192320 inwhsubiph dwwwyEuttp QL huwtn 4400,0 3.0 13,2
wnnubp jwagbkpwht
30121470 wnuhsubiph/hinwujwintuwhwunn Q< Yg 5500,0 40,0 220,0
dbpbuwubph hwdwp
inubp jwabipwh
30121470  |wwhsubiph/hbnwujwundbuwhwunn ag Ug 5500,0 10,0 55,0
dbpbuwlbiph hwdwp
innubip ugbpwihu
30121470 wnuyhsutipp/hbnwujwinéiuwhwunn aL lag 7 000,0 5,0 350
dtipbuwubiph hwdwp
wnubip jwqbipwihu
30121470  |unwhsubiph/htnwwwwntbuwhwunn Q< 11 5500,0 3,0 16,5
Ubpbwlbph hwdwp
wnnubp pwqbipwh
30121470 |uwyhsubph/hbnwuwwnbuwhwlng ac g 5 600,0 5,0 28,0
dbpbuwubiph hwdwp
innubip pugbpught
30121470  |wwhsubipp/hEnwwwinbbuwhwunn Q< g 7 800,0 3,0 23,4
dbpbuwubph hwdwp
30237200 hwiwlwpghsubiph wwpwquwubp q< hwn 5000,0 10,0 50,0
30237200 hwdwywpghsubiph wwpwgwubp < hwtn 3200,0 10,0 32,0
30237200 hwdwlwpghsubph wwpwagwubp Qg hwn 3000,0 5,0 15,0
30237200 hwdwlwpghsubiph wwpwgwubp Q<L hwin 3 400,0 2,0 6,8
30237200 hwdwlwpghsutinh wwpwaquitp Q<L hwtn 1500,0 4,0 6,0
30237200 | hwiwlwpghsubinh wwpwqwubip Q< hwwn 1500,0 2,0 3,0
30237200 | hwiwywpghsubiph wwpuwgwubin 4 hwtn 2000,0 2,0 4,0
30237200 hwiwlwnghsubiph wwpwquwubp Q<L hwwn 1300,0 1,0 1,3
30237200 | huwdwlwpghsubph wwpwgwibp QL hwin 500,0 1,0 05
30237200 hwdwywnghsubtiph wwpwquwutp 9L huwin 100,0 5,0 0,5
30237200 hwdwywpghsubph wwpwaquwutp < hww 100,0 5,0 0,5
30237200 | hwdwywpghsubiph wuwpwqwutp 9< huwtn 100,0 5,0 0,5
30237200 hwdwlywnpghsubiph Wwpwqwubtp 9L hwn 100,0 5,0 0.5
30237200 | hwiwlwnghsubiph wwnwguibp q< huwitn 300,0 100,0 30,0
30237111 utinigdw Jwpinlyng Q< hwtn 25000,0 10,0 250,0
30237130 hwiwluwpgswiht pwpwnbp < hwn 2500,0 5,0 12,5
30237137  |wbuwpwpunbip < hwwn 30 000,0 5,0 150,0
30237200 | hwdwluwpghsubiph wwpwquwbp 9 huith 2 000,0 10,0 20,0
32421200 gwtigwjhtl pwnwnphsubin Q< hwn 485 000,0 1,0 485,0
oujpwuwnhy hhznnnipjwu pwpunt
30236180 (lithl;: qht:i d."ih’:lw':ﬂm 2 r ac husn 28 000,0 1,0 28,0
30237137  |nbuwpwpwbp 9L huwn 275 000,0 1,0 275,0
31721100 |bbyunpwdbiuwthlwlwt uwppbp < hwtn 1350 000,0 1,0 1350,0
30237200  [hwdwlwpghsutinh wwpwgwutp < hwtn 5300,0 2,0 10,6
30121480  ||nwwwwinbbuwhwtnn uwppbiph tinubip 94 Ug 7 950,0 5,0 39,8
30121500  |pwpwiphgubip q< hwtn 40 000,0 1,0 40,0
30121480  |nuwwwintbuwhwunn uwpptiph wntbip QL lg 7 950,0 3,0 23,9
30237200  |hwiwlwpghsubph wwpwgwubp L hwuwn 3 450,0 2,0 6.9
30237200  |hwdwlwpghsubiph Wupwqulibp QL hwwn 1600,0 2,0 3,2
30237200 |hwiwywpghsutph wwpwgwubip qg hwuwn 5300,0 2,0 10,6
30237490  |hwiwlwngswiht dnuhwnnp a< hwtn 220 000,0 1,0 220,0
30232110 |juqupwihts tnuyhsubin a< hwtn 190 000,0 1,0 790,0




30211190 il husdwluinghsutin < hwn | 2400000 30 720,0
30237132 |wpwwpht uwppbiph dhwgdwt wpbp (usb) 74 hwn 8 000,0 3,0 24,0
32551160  |htinwfunuwjht uwppbp q< hwtn 13 000,0 1,0 13,0
30211280  |hwdwlwpghs wdpnngp dbynud Q< hwwn 380 000,0 1,0 380,0
302mrp  [Hevruliu wnngtunplt (cpu) ud < huwn 415000,0 1,0 415,0
ujpngliunpibin
30232110 [jwqbpwiht ughsubp G< hwwn 148 000,0 1,0 148,0
3021190  |wbdtwhwl hwdwywpghsubp < hwin 240 000,0 1,0 240,0
30237200  [hwdwlwpghsubph wwpwaquwbp Q< hwwn 12.000,0 1,0 12,0
30211190 |wusuwlwu hwdwlwpghsubp Q< hwn 240 000,0 1,0 240,0
11 584,1
| Stunbuwljuh wupwiipbip
18141100 wluwwnwupwihu dEnunglbn q< qnuyg 200,0 30,0 6,0
18141100  {wpfuwwnwupuwht &kintingltin < gnyq 220,0 300,0 66,0
18141100 wofuwinwupwihu dEnungubip q< qnuyg 250,0 240,0 60,0
18141100 wofuwinwupwih Enungutin q< qnyg 1500,0 2,0 3,0
18421140 dbwugudjw ogunwgnpdiwl dinungutip Q< qnyg 150,0 100,0 15,0
39812600  [dwppnn dwéniyubip U thnghubp G< hwwn 450,0 3,0 1,4
39831247 ;‘u"l‘n"::’;n“s;““ himply uwbhusighggh hodiup 9< thun 700,0 200,0 140,0
24451141 wiutnwhwbpg hbnniy nuyebn Q< thenp 220,0 279,0 61,4
39831243  ||Ywgph thnoh winndwwn a< g 1000,0 15,0 15,0
39831242 | |wgph thnzh dtinpny [Ywwint hwdwp Q< g 700,0 42,5 29,8
39831100 [Ywgnn, Wynupbip QL thuap 550,0 51,0 28,1
39831100  [|Jwgnn Wyniebn Q< [hup 450,0 165,0 74,3
39831244 |o6uwn, wbnbuwluwl Ve lg 1100,0 5,0 55
39831245  |ofwn, htinnily QL thwnp 400,0 60,0 24,0
39812410  |Ywhnyph thw)bgdwl dheng Q<L hwwn 700,0 73,0 511
39221490  |uwnibgubp q< hwn 3300,0 2,0 6,6
39221490  |uwntugubip Q< hwn 250,0 70,0 17,5
39812100  |hwwwhh dwdhy G< lg 1400,0 2,0 2,8
39831273  |hwwnwlh dwppdwl Uniyetin QL thwup 700,0 10,0 7,0
39531500  |gnpgh Ywnplbip q< u2 5000,0 8.7 48,6
39831283  |hwwwlh Jugdwl jwp 9L hwn 300,0 78,0 23,4
39831283  |hwuwwlh Jugiwl |wpR < hwin 400,0 170,0 68,0
39522330  |dwppnn Yunpubip q< hwn 500,0 263,0 131,5
39522250  |thnpnt hwjwpdwu Yuinnputip Q< huwtn 400,0 30,0 12,0
39811300  |hnuwqgbipdhs, onh q< hwn 500,0 50,0 25,0
33761100  |qniqupwuh pnine QL hwn 130,0 620,0 80,6
33761100 gniqunpwuh pnune q< hwtn 150,0 200.0 30,0
39513200  |pneb wudkinnghl, Eplpbipn q< hwwn 150,0 20,0 3.0
44511120  |gnquehwlubip QL hwn 2000,0 10,0 20,0
18931170 Ywinphg wjwjnwuwlubip QL hwn 100,0 200,0 20,0
19641000  |wnihkehibuwht wwpl, wnph hwdwp Q< hwn 600,0 20,0 12,0
19641000  |wnihtehiGuwht wwpl, wnph hwdwp Q< hwn 800,0 20,0 16,0
19641000  |wnihtehibuwiht wwply, wnph hwdwp QL hwn 400,0 20,0 8,0
44611300  |wnph Yntwnbjubinubip Q< huwn 90,0 100,0 9,0
19641000  |wnihkehibuwht wwpl, wnph hwdwp q< hwwn 70,0 500,0 35,0
19642100  |wnihtrehibtwghl wy wpunwnputip 4L hutn 20,0 100,0 2,0




19642100  |wyn|ptRhjBUwhl wj wpwnpwup 4 hwwn 30000,0 4,0 120,0
gga00 | MPintphLuIRl punulip uwuppudnpndUenn | la 1200,0 40,0 48,0
dwbltint hwdwp
19642000  |wnihtphibuwght wwply, utunwihu Q< hwn 1,0 500,0 0,5
39221410 wybutip q< hwwn 900,0 253,0 227,7
39221410 |wybjubp G< hwn 500,0 200,0 100,0
39224331 |nny| wwundwub Q< hwwn 1000,0 4,0 4,0
39224331  |nnyj wwundwub Q<L hwn 800,0 17,0 13,6
39224331 nny| wjwuwndwub Q< hwin 500,0 10,0 5,0
39224332  |nny|, ghuljwwwwn L hwwn 1500,0 20,0 30,0
39298300 |dwnjwdwutbp QL hwwn 1000,0 5.0 5,0
39298300  |Swnlwdwbbp a< huwitn 700,0 5,0 35
19441200 uhupbwnply rh QL Vel 1400,0 12,0 156,8
309224560  |wynwihuwphpbn (dnigw) Q< hwn 1100,0 20,0 22,0
39298910 wnuwdwnubp Q<L hwn 200 000,0 1,0 200,0
31521470 Upunwlywt inbpuwn niubignn gnigunwfuinwyutin < hwun 100 000,0 3,0 300,0
39224331 nny| wjwundwub QL hwtn 3100,0 2,0 6,2
33141118 |wbaknnghlubp 9< huwtn 700,0 3,0 2.1
33761400  |pneb wudbinnghlubp QC hwn 200,0 10,0 2,0
24451141 whunwhwuhg hennily Wnetip < thwnp 350,0 5,0 1,8
39831245  |o6wn, htinniy < thinp 400,0 5,0 2,0
38411200  |gtipdwswihtp q< hwn 350,0 20,0 7.0
24451141 wlunwhwuhg hnniy uynietin G< (hwnp 1600,0 10,0 16,0
24451141 wifuunwhwhg hinny ujnietin q< thwip 1600,0 10,0 16,0
39831262 | htinnily obwnh pwpfuhs uwpp q< hwtn 3000,0 2,0 6,0
33141129 [nhdwly 9< hwn 45,0 250,0 1,3
33621641 Erl:‘;;:;:m LR oSl | g huin 1050,0 600,0 630,0
39831277 ofwnh wywnndwwn nhuubuubplbip q< hwn 2 000,0 15,0 30,0
19441200  |uhUpbwhly Rl q< la 1400,0 800,0 1120,0
sapa64 | MuLGrhs (wlunubupnnl) b whinububhy - q huitn 1650,0 10,0 16,5
dhgngubip
39513200 |pneb wudknnghl, tplzkpwn Qg hwn 800,0 20,0 16,0
39713410 hwwnwyh dwppdwu uwppbip < hwwn 25 000,0 1,0 25,0
39221480  |gniquipwi fjunquitiwlutip Q< hwwn 1500,0 4,0 6,0
39839100 |qnquehwl, wnpp hwjwpbint hwdwn, Gnnny Q< hwwn 5500,0 1,0 5,5
39514400 pneb upphsutiph wywndwin nhuwblubp QL hwin 15 000,0 2,0 30,0
34921440 Zﬂ"u':ﬂ:m# wipl waprulir Q< huwtn 13 000,0 2,0 26,0
sgdiae  |PRAMLbmN L g IR a< hun 1900,0 9,0 17,
wnpwdwubp
39221420  |funquiiwlubip 9< huan 3500,0 1,0 35
39221490  |uwniugubip 9L huwn 430,0 10,0 4,3
39831100  ||Ywgnn Ujnietin < (pup 550,0 4,0 27
39831245  |ofwn, htinny < (htnp 800,0 3,0 24
39522250  [thnont hwwpdwl Yunputip q< hwn 750,0 2,0 1,5
4 400,8
39241130  [mupybpuw) nuibwlutip Qg huwn 500,0 6,0 3,0
39241130  |niupdbpuw) nwuwlubp ac huwtn 100,0 50,0 5,0




44511170 thngfutip Q< huwin 2000,0 3,0 6,0
4451390 |gnpdhpubiph pnuwljubip 4 huww 800,0 10,0 8,0
wy| quuwqu wighgnpéwljwl
fel6tiop [l awhwaul wigbgnndul < huin 4000,0 10,0 40,0
uwppwynpnuitbip
44511200 |8tinph unngltin 9¢ huwtn 6000,0 50 30,0
44511130  |wjgbgnpdwlwt bnwuubp 9L hwtn 3700,0 20,0 74,0
14811300  |hnynn uwywnwlubp Q< hwn 800,0 10,0 8,0
14811300  |hnynn ujwywnwyubp Q< hwn 1400,0 30,0 42,0
44511290 dwubljuwnwpawlutp 9 hwwn 5 000,0 1,0 5,0
44511290  |dwublwnwpéwlubp Q< huwitn 15 000,0 1,0 15,0
44511370  |qnpdhpubinh hwywpwaniubp Q< hwn 24 000,0 1,0 24,0
44511230  |nnip 9< hwtn 7 000,0 1,0 7,0
267,0
44163170 ntwnhub junnndjwly Q<L Ubwnn 400,0 25,0 10,0
39515440  |nupnwhwjwg 2Gpunuwywpwgnyn q< u2 5000,0 36,4 181,8
24911500 unuhué (wkpnqny) qL hwwn 2500,0 27.0 67,5
31711160 |kblwpnnubp Q< Uyq 1200,0 10,0 12,0
44511220  |wwpwwinbuwly dnph gnpdhpltin < hwtn 2000,0 1,0 2,0
AA740  |gniquipwliwlntp L4 hwn 30 000,0 20 60,0
4021190 Joph wndwtip < huwtn 15.000,0 1,0 15,0
42121190 |oph wndwbp Qg hwwn 35000,0 1,0 35,0
38421110 opwswihbn Qg hwwn 230 000,0 4,0 920,0
44411110 onh dnpwily, 1 thwlwuny Q<L hwin 1000,0 30,0 30,0
42131470 |dnpwiljubph dwubp QL hwwn 700,0 10,0 7,0
42131170 |opwyht hnupbiph Ywpguynpdwt thwljwuubp Q< hwwn 1500,0 6,0 9,0
42131170 opwjhu hnuptiph Ywpquynpuwl thwywuubn < hwn 2 000,0 2,0 4,0
44163280  |oph L gninpznt funnnyuljubn 9L hwn 1000,0 20,0 20,0
44521120  |nnwu thwlwubp Q< huwin 5000,0 1,0 5,0
44201171 nnutiph hwdwn vwhdwuwthwynwiubp < hwn 8 000,0 4,0 32,0
44221171 naubiph hwdwp vwhdwbwihwynwubn G hwin 10 000,0 6,0 60,0
44221171 nnubph hwdwp uwhdwbwhwlnudubp QL hwwn 13 000,0 2,0 26,0
42131480  |thwlwuubph dwubp 9L hwn 6 000,0 10,0 60,0
44111413 [jnunuiubiply < Ua 2500,0 20,0 50,0
44821000  |jwp, dwupwhwinwlh QL [hwnp 5000,0 10,0 50,0
4111417 [iwuwbply < g 1300,0 10,0 13,0
44111414 |ubpl' jwnbpuwht a< g 900,0 50,0 45,0
44111412 ubiply, shiwpwnulwu QL uyg 1500,0 8,0 12,0
14811300 hnynn ujujwnwlubip L, hwin 14 000,0 2,0 28,0
44531110 |¢wyinh wnnunwlubip < ug 2200,0 0,5 1,1
44511260  |hnjwpnine Q< 2 1900,0 1,0 1,9
44511260  |hnywpenine Q<L 2 2000,0 1,0 2,0
44511260 hnywpnue Q< u2 2100,0 1,0 2,1
44521230 gnpdhputiph hwywpwdniutin QL hwitn 10,0 500,0 5,0
44521230  |gnpshputiph hwywpwdniubip L hwn 10,0 500,0 5,0
44192630  [hbinnw q< hwn 40,0 25,0 1,0




44192630  |hbinynw 4< hwtn 50,0 25,0 1.3
44192620  |dbfu dEnwnwlwl q< la 800,0 33 2,6
44192620  |dbju dhnwnwlwu Q< g 800,0 3.3 2,6
44192620  |dbju dhnwnwlwu Q< lg 800,0 3.3 26
44521170 |ynnutipubip 9c huwn 2000,0 20,0 40,0
44411751 Juwuhwugnygh pwph wwpwawbn < hwtn 2500,0 3,0 75
44411710 uwuhwugnygh Uutnwwnbinbp Q< hwn 4 000,0 5,0 20,0
44411751 uwuhwlgnygh pwph wwpwqwubp GL hwn 4000,0 8,0 32,0
44111200  |gtaibun Qg lg 60,0 7500,0 450,0
14211000  |wywgq, 2huwpwpwlwi Q< u3 7 500,0 10,0 75,0
44163130  |wwpwulbp < dtiwnp 1200,0 65,0 78,0
44521120 |nnwt thwlwuubp 4< huwitn 2500,0 6,0 15,0
442170 [ihunjbind < u2 2000,0 150,0 300,0
44161130 opwunwp funnnywlywowntin 9 dtnp 40,0 100,0 4,0
44163170 nbinhut funnnywy 9QC dtiunp 400,0 40,0 16,0
44221100  |wwwnthwuubip < u2 25 000,0 30,0 750,0
44118400  |wpn$uwuwnhy 9L a2 3700,0 216,0 799,2
42661300 tnwlgdwu uwppbip G hwn 44 000,0 1,0 44,0
31221241 rynuwybip-wunninwly QL hwn 25,0 150,0 3.8
31221241 ryniwybii-wyinninul QL hwn 20,0 150,0 3.0
31641216 hwwnty wwnnuwnwly Q< hwtn 500,0 2,0 1,0
44163270 | funnnuwluwshu uwnpptip a< huwtn 700,0 30,0 21,0
44163270 | funnndwlwiht uwppbip a< hwtn 500,0 30,0 15,0
44163270 funnnywljuwyhu uwnppbp G< hwwn 900,0 50,0 45,0
44423600 Yusniu dwwwiybuubn QL hwn 500,0 20,0 10,0
44511330 wununwlwhwbbp Qs huwitn 10 000,0 1,0 10,0
30197100 Yuphgh UGwnwnwiwpb Yuwbp, dad G< wintth 2600,0 15,0 39,0
39263420 | wdpwy, Utd 9L tnth 1000,0 20,0 20,0
42661500 | bnwligUwt ng bblunpwljwt uwppbp QL huwtn 1200,0 10,0 120
24911900  |uwhlh unupta Ul g 180,0 350,0 63,0
44921500  [dtithwiwdhy' ghujuwjh uu ™ 1500,0 6,0 9,0
19521300  |wnihuwnhpnib uwhlubn uu u2 4000,0 45,0 180,0
44411300 Ywgupwbbp hwn Q< 43 000,0 1,0 43,0
39141360  |(nnwubywyh Ywhnyp hwn < 50 000,0 1,0 50,0
39141360  |pnwubtjwlh Ywhnyp hwtn < 25000,0 1,0 25,0
44411740 |gnigwpwiiwynup hwn 9 55 000,0 1,0 55,0
44411760 qniqupwh pneh patwly hwn < 9 000,0 1,0 9,0
5026,0
39714210 |onnpuwlhs, 9000 BTU < hwn 230 000,0 3,0 690,0
39714230  |onnnuwljhe,18000 BTU Q< huwin 300 000,0 1,0 300,0
39721310  |onwwnwpwgnmghsubp QL hwn 37 000,0 4,0 148,0
snnmy  |eesnipipag e Smn ac huitn 450 000,0 1,0 450,0
Ywpuwubip
39711350  |duwnwg < huwn 130 000,0 1,0 130,0
44511220 nwpuwnnbuwl stinph gnpdhpubip Q< hwuwn 80 000,0 1,0 80,0
39721500 Eﬁ‘;‘:ﬂﬂgﬁ:ﬂﬂ“‘“‘“gn@h" ghnduhty a< huitn 35 000,0 1,0 35.0
31151170 Jwpwlyngubiph (hgpwinphsutip Q< hwwn 5000,0 4,0 20,0
31442100  |Yynuwnwlhg dwpinlngltp =74 hwtn 2100,0 80,0 168,0




39714220 |onnpulihg,12000 BTU 4< hwtn 270 000,0 2,0 540,0
30714240 |onnpuwljhs, 24000 BTU 4 hun | 3200000 2,0 640,0
39714230  |onnpwlhs,18000 BTU Qg hwin 300 000,0 5,0 1500,0
39221290 phjuhy q< hwn 25 000,0 1,0 25,0
39711220  |hblywnpwlwu upbbthttp 9L hun 205 000,0 1,0 205,0
39711140 Lugwnuwjhl uwntwpwlbp QL hwn 280 000,0 3,0 840,0
39711290 |dpypnwihpught Junwpwuutp &< hwin 65 000,0 1,0 65,0
32324900  |hGnniuwnwgnygutip q< hwn 180 000,0 2,0 360,0
18521100  |duniwgnyglibip ac huwin 15 000,0 1,0 15,0
39713432 |thngbyny QL hwtn 235 000,0 1,0 235,0
6 446,0
by Unpwlipbibip, uwppip
31211120 |wuwwhnyhsubiph wplntp QL hwtn 3000,0 3,0 9,0
31681630  |hbywnpwywu wwwhnihs, inwhwg, 63U q< hwwn 6 000,0 17,0 102,0
31681600  |bithwnpulwl wwwhnyhs, < hwin 3000,0 1,0 3,0
312180 wywndwn wtguwinpsutip Q< hwn 1000,0 5,0 5,0
31211180 |wywindwin wugwinhgubip 9L hwwn 1600,0 5.0 8,0
31211180  |wywndwwn wuguwnhsubip Q< hwuwn 1700,0 2,0 3.4
31681600 blEywnpwlwi wwwhnyhs, Q< hwn 350,0 4,0 1,4
31681600  |Gblwpuwljwt wwywhnyhs, C¥3 hwtn 600,0 4,0 2,4
31686100 fg&”‘““‘““‘“ g Ut henulbgmans; - | g hwtn 250,0 60,0 15,0
31331270 ;‘;L‘;"El‘;‘;“‘“ e yntaoqu, puoiquughe, TTREL, | g dbunp 200,0 200,0 40,0
31331280 ;‘x?;‘z‘&‘;“‘“ n” wnbdjw, puquuighn, AN, |- g0 dbwnn 250,0 1000,0 250,0
a133izop  |ApUenmebib wup” wnbdiw, puqduishn, ML - g dtnp 400,0 100,0 40,0
2x4.0 0u2
31321110 gwdn L dhohU jwpdwl dwiniubp qL dbunp 600,0 100,0 60,0
31683400  |bnwpwoluhs Qg hwn 800,0 10,0 8,0
31685000  |kjbywpuljwt bplwpwguwt jwp q< hwtn 1800,0 3,0 9,4
31685000  |Ghlwpwljwl Eplupwgduwt jwp < hwn 1900,0 5,0 9,5
31685000 |bEupwlw bphwpwgdul wp QL hwin 2000,0 4,0 8,0
31685000 |hbyupwlwl bplwpwgdwl jwp 9< hwn 2600,0 5.0 13,0
31685000 | kibywpwlwt Eplwpwgdwl jwp Q< huwn 3500,0 1,0 3;5
31684400  |Jwpnwl Q< hww 700,0 10,0 7.0
31681100  |bjblwpulywl wwpwqwubn S< huwn 25 000,0 1,0 25,0
31681900  |btlwpwlwt wynuhs (nnkj) Q< hwn 25 000,0 1,0 25,0
31512360  ||nwwpdwlubip a< huin 50 000,0 5,0 250,0
31512360  |\nwwp&wlubp 9L hwn 13 000,0 8,0 104,0
31531680  |gbipbljwjpht pwdwh deluwplhs Q< hwtn 1700,0 30,0 51,0
31531210 ksyunpwlwl juidy, 60W, 80W, 100W < hwn 120,0 105,0 12,6
31531210 Eblunpwlwt uidy, 60W, 80W, 100W qc hwtn 100,0 15,0 1.5
31531300 wnuwnbunn (wdwbip q< hwin 1100,0 10,0 1,0
31531100 EEyunpwlwl jwdwbp QL huwtn 1300,0 20,0 26,0
31531100  |bblupuwlw wdwtp < hwn 1500,0 70,0 105,0
31521560  |wpwwphu (nuuwynpdw jwdwbn < hwn 1700,0 660,0 1122,0
31531300  |wbwnbunn juidwbn < hwwn 1900,0 12,0 22,8
31531300  |wlwnbunn jwdwbip qc hwn 1600,0 30,0 48,0
31521440 |wnuwdwnh nyubip q< hwwn 1000,0 2,0 20
30121320 |inwhstbiph ebipdwlwyniuwgmghg uwppbin < hwn 10 000,0 4,0 40,0




3011320 |unwyhglibinh obpdwluwynibiwgnighs uwnptip 74 huitn 10 000,0 4,0 40,0
31521500 [wnwunwnh muwynpuwt uwpplp 9 huwn 4000,0 6,0 24,0
31321110 gudn b dhght |wpdwt dwniutbip < dbwnp 550,0 15,0 8,3
31211180 wyinndwn wigwnpsubn < hwwn 3200,0 1,0 3.2
31531300  |wnuwnbunn widwbp Q< hwtn 1100,0 25,0 275
31221180 (widwbnh Ynpwnubp q< hwin 650,0 25,0 16,3
31221190 [dhwgnighgubin L Yntwnwlwwht wwpptp 9< hwn 5500,0 16,0 88,0
2646,7
18811130 Ywnignilhg Gupuwnp Ynohlubp Q< qnyg 3 OO0,0 22,6- 66,0
39514500  |tpbuh upphgubin q< hwun 1200,0 30,0 36,0
18311190  |fuwjwpe q< hwn 5 000,0 14,0 70,0
39221120 |uwwup Q< hwn 200,0 2,0 0,4
39221120 uLywup 9L hwitn 400,0 1,0 0,4
39221230 mﬂ'ﬁﬂzt‘f::“‘““"h sk ac huwin 1500,0 2,0 3,0
39221140  |phyh Ywd unipbh pudwliubp QL hwin 900.0 6,0 5.4
39221140  |pbh Ywd unipéh pwdwlubn Q< hwn 600,0 6,0 3,6
39221130 |pwdwlubp Qg hwtn 500,0 6.0 30
39221260  [wihubiubip q< hwwn 1000,0 6,0 6,0
39221120 |uwwup 9< hwwn 12.000,0 1,0 12,0
1831190  |uwjwp q< huwtn 6 000,0 12,0 72,0
18311190 fuwjwe Q< hwn 550,0 150,0 82,5
18811180  [hnnwppwihtip Q< qnyg 45,0 150,0 6,75
35811170  |hwdwggbiuwn 9< Inwywqu 50 000,0 33,0 1650,00
39221130 pwdwlubp q< hwtn 1000,0 24,0 24,00
39221380  [qnuiubip Q< hwn 400,0 30,0 12,00
39221380  [gqnuwubp a< huwitn 300,0 30,0 9,00
39221390  |wwunwnwpwnubip G hwiwn 400,0 30,0 12,00
39241120 [junhwunguiht nwbwlubp < huin 500,0 20,0 10,00
2084,1
_ oo s S s
15421100  |wplLwdwnyh &bp, nwhtwgyws, (quiwd) a< thwp 1.000,0 10,0 10,0
03211100 gnptiu q< Ug 200,0 500,0 100,0
03211400  |quiph ac Ug 155,0 15 000,0 23250
15511200  |Ywp uu (htnp 450,0 12,0 5,4
15542100  |jwpuwonn nwuwlwu uu g 1800,0 2,0 3,6
15551900  |wwnuwnul uu lg 1200,0 1,0 1.2
15551600  |Uwdniu uu ug 900,0 3,0 2,7
15512000  |epywutin uu Ug 1000,0 1,5 15
15542240  |sknwp wwuhp Uu g 4500,0 1,0 4,5
15541300  |pwpd wwupp uu Ug 8 000,0 1,0 8,0
15541100 Jwwuhp, |nnh uu lg 2700,0 1,0 27
15541100  |wuwbpp, nnh uu Ug 2 700,0 1,0 27
15531100  |Ywpuwg uu ug 5 500,0 4,0 22,0
1543111 dwngquwphu uu yg 1300,0 0,5 0,65
15511700  |Luwgeh thngh uu ug 4000,0 0,5 2,0
15511600  |funwgnwd Gupe uu lig 1000,0 20 2,0
15511800  |yubhp uu {hwp 1500,0 2,0 3,0
15551300  |jngnipwn uu ug 1.600,0 0,5 0,8




03142520  [ani, 02 buing uu hutn 90,0 24,0 22
15111120 |uwnwjwph dhu thuthniy uu Ug 4000,0 (49 6,0
15131100  |Gpohltintu b bdwbwinhw duwdetipp uu lg 2800,0 8,0 204
15131400  |jungh duhg wwinpuwundws wptwnpwip uu lg 3500,0 3,0 10,5
vwywph b hapeh duhg wwnpwunyws
15131650 . uu la 7 500,0 3,0 22,5
nwywph b hnpeh duhg wwunpuundwsd
15131650 A uu bg 11 000,0 3,0 33,0
15131230 [ywgwntitn uu g 3500,0 1,2 42
unwywph b hnpph duhg wwinpwunywsd
15131630 ! uu lg 1400,0 2,0 2,8
wpLWnpWup
nwywph b hnpeh duhg wywnpwunywsd
151316
il wpwnpwup uu lg 1550,0 1,5 2,325
15131631 duh wwhwdn uu g 1050,0 4,0 4,2
15131400  |fungh Yuhg wwinpwuwnwsd wpnwnpwlp uu g 2900,0 5,0 14,5
nwywph b hnpph duhg wwnpuunywé
151316
31650 wpunwnpulip uu g 4000,0 5,0 20,0
15119610  [any hpfuwl uu bg 2500,0 4,0 10,0
15235300  |wwhwdnjugyuwd niy uu Ug 1550,0 1,5 2,325
15231400  |wuwfunwd dnily uu ug 1500,0 2 2,25
} 2656,9
30192125  |uwplbputn q< hwtn 700,0 17,0 11,9
38421230  [fuwnwswith 9c huwtn 6 000,0 1,0 6,0
38311400  |Yonwpwpbp qc huwn 3000,0 1,0 3,0
33191310  |thnpSwlnplbip Q< hwn 140,0 1200,0 168,0
15991700  |$hiwph eninge 9< lg 4000,0 15,0 60,0
38411200  |obpdwswihbp qc huwin 40 000,0 3,0 120,0
42991410  |fuwnUpsubip q< hwtn 150 000,0 1,0 150,0
42991270  |nnquynpnn uwppbip q< hwn 8 000,0 3,0 24,0
33191316  |wwwlb swihhg dEugnipyw® hnljwéd Jghlyny Q< husn 4000,0 4,0 16,0
33791300  [jwpnpuwnnp wywljw wpanwngpuup Q< huwn 4000,0 5,0 20,0
36431760  |jwpwpunnnp opwjht punupp Q4 huwtn 300 000,0 1,0 300,0
33791300  |jwpnpwinnp Wujwlju wpnwnpwup G< hwwn 150,0 20,0 3,0
33141211 pdoluiljwi wy) gnpdhpubip L wwnwquiibp qc hwn 2000,0 10,0 20,0
sgsorzoo  |Prdhulub jwonpunnnbuynud Uhpundnn ac huitn 450 000,0 1.0 450,0
uwnplip
38411200  |ghiptwsuithbip qc hwn 650 000,0 1,0 650,0
35121290  |whsbip q< huwtn 15 000,0 1,0 15,0
38421180  [Jwundbwpbp QL hwn 15 000.0 1,0 15,0
38031100  |funtwynipjwt swihdwl uwppbp 9 hwn 25 000,0 1,0 25,0
38421160  |swihdwu U huhnnnipjwi uwnptin < hwwn 45 000,0 1,0 45,0
38411600  [ph swihhsubip Q< hwn 35000,0 1,0 35,0
38431140  |ytipjnidniejwl uwppwynpnudubp 9L hwtn 100 000,0 1,0 100,0
38431140 Ubippnidnipjwu uwppwynpnudubn q< hwwn 60 000,0 1,0 60,0
42211210 dwlwpnubinb wwwpwuwnbne dbpkuwibn QL hwtn 35 000,0 1,0 35,0
39221100 fjunhwungwjht uwppbip Q< hwin 80 000,0 1,0 80,0
42211200  |utinwiptpph dpwldw dbpblwtup qc hwtn 250 000,0 1,0 250,0




YtuuwpwUwlywy wwwgnyguliph unwgdwt

33951400
huwiuipwdniutn < hwn 190 000,0 1,0 190,0
38431140  |Jbpndnupjwt uwppwynpnuiutp Q<L hwin 750 000,0 1,0 750,0
38431140  |ybipinidnuejwls uwppuiynpnudubip q< hwin 750 000,0 1,0 750,0
38431140  |Jtipjnudnuejwls uwppuwijnpnudubip q< hwtn 2300 000,0 1,0 2300,0
dhwlyw jwpnpwwnnphwnud Yhpwnyn
3psoraop  |Prohubt wenpunphund Yppunion 9¢ | hun | 40000000 [ 10 40000
uwppbip
39181100  [jwpnpwwnnphwih ubnwtbp 9L hwn 174 000,0 1,0 174,0
39181100 (wpnpwwnnphuwijh ubinuuubp < huwn 214 800,0 5,0 1074,0
39181200  |(wpnpwwnnp Ywhnyp 4< Inwywqu 174 000,0 2,0 348,0
39181100  |jwpnpwwinphwih ubnwuittp QL hwwn 244 500,0 4,0 978,0
30181100  |jwpnpwwnphwh ubinuubn q< hwwn 354 000,0 1,0 354,0
]
3g591200 [Pdhwliwt ppnpunnnphuynud Ghpundnn a< hun | 102000,0 10 102,0
uwppbip
39181100  |jwpnpwinnphwyh ubnuiitbp QL hwin 364 800,0 1,0 364,8
39181200  |jwpnpwuninn Ywhnyp Q< (nulwqd 195 000,0 1,0 195,0
39181100  |pupnpwunnphwih ubnuiubp QL hwn 244 500,0 2,0 489,0
39181100  |jwpnpwwinphuwh ubnuiubn G< hwwn 354 900,0 2,0 709,8
dosgigng  [Promwle geprnanamnhunil dpumin ac huwitn 102 000,0 2,0 204,0
uwpplip
39181100  [jwpnpwwnphuyh ubinwuubp Q< hwun 174 000,0 1,0 174,0
39181100  |jwpnpwwnnphwjh ubnwuubn Q<L hwuwn 354 000,0 1,0 354,0
phuhwlwy jwpnpunnphwynud Yhpwnynn
38591200 Q< hwuwn 102 000,0 1,0 102,0
uwpplip
39181100 jwpnpwwnnphwih ubqwutbp QL hwn 255 000,0 1,0 255,0
39181200 jwpapwwnnp uhnyp QL hwn 742 800,0 1,0 742,8
39181100  |jwpnpwwnnphwyh ubnuiutp q< hun 364 500,0 2,0 729,0
39181200  |(wpnpwunnp Ywhnyp qc (nwlwaqu 195 000,0 2,0 390,0
39181100  |jwpnpuinnphugh ubnuiibp gL hwtn 96 000,0 2,0 192,0
39181100  |jwpnpwwinphugh ubnubtbp Q< huwn 144 750,0 4,0 579,0
39181100  |wpnpwwnphugh ubinwlltp QL hwwn 214 500,0 2,0 429,0
39181200  |jwpnpwwnnp Yuwhnyp a<L (nwljwqd 174 000,0 2,0 348,0
39181100 (wpnpwwnnphwih ubnwibbp q< hwin 90 000,0 1,0 90,0
39181100  |jwpnpwwnnphwih ubinwuubp Q<L husn 90 000,0 1,0 90,0
39111140 wpnnubn QL huin 21600,0 10,0 216,0
38651230  |fungnpuwgnighsubip Q< hwn 2 000,0 1,0 2,0
31512320 nyunpudwtnizwywgnyu jwdwbp QL hwin 25 000,0 3,0 75,0
31711440 EiEunpnuwght htunbigpuw) ufubidwubp 9L hwn 90 000,0 1,0 90,0
38421220  |mdh quwhwndwy uwppwdnpnuiubp Q<L hwn 80 000,0 2,0 160,0
38421220  |nidh quwhwindwl uwppwynpnudutin QL hwun 105 000,0 1,0 105,0
sznzigo | honudibly Yued onusGighs (uflusohl) ac huwn 35 000,0 2,0 70,0
qqubp
44163180  |wnnuuwwnt funnnywy q< Yg 511,9 168,0 86,0
44521160  |onpwubp ac dtnp 4200,0 7.5 315
44521160  |onpwlbip < dbinp 4000,0 75 30,0
42141200 |Ywprwuw)pu fhubnubp ac huwtn 50 000,0 1,0 30,0
42141190 |{hutintiliph Ygnpnhgubip Gq hwwn 55 000,0 1,0 55,0
sagsiage | MeLupwials wupugnygttrh unuigiuh < hun | 555000,0 1,0 555,0
huwwpwéniubp
33191310 (hnpéwiinubin a< hwn 6 000,0 6.0 36,0
33191310 |hnp&wunputin < hwn 27500,0 20 55,0




33191310 [thnp&wunputp q< hwtn 27 500,0 2,0 55,0
33191310  |thnp&wbinplbp Q< huwn 27 500,0 2,0 55,0
|wpnpwwnnp wqnuwyngbip (nbiwgbunubin)
33691420 9 1
puiqUlnduynbn (nwljwgqd 380 000,0 ,0 380,0
[wpnpwwnnp wanwinuyetip (nbwgbnbbin)
33691420 |\ miuinubian Q< nwlwqd | 360 000,0 1,0 360,0
42921180 Ugbinputip Q<L huwin 220 000,0 1,0 220,0
38411400 funuwywswihbip < hwin 490 000,0 1,0 490,0
38431140  |Jbppnidnipjwl uwppwynpnudubp 9 hwn 1050 000,0 1,0 1050,0
wnihtphliuwiht pwnwe uwppwynpnuiubpp
19642200 |, e b 9< g 2 400,0 20,0 48,0
33691160  |phdhwlwl wgnwuniebp (nbwgblwnubin) Q< hwn 153 000,0 1,0 153,0
33191310 ihnpdwnpubp q< hwiwn 50 000,0 3,0 150,0
33191310 |thnpdwunpubp Q< hwn 50 000,0 3,0 150,0
42911160  |opp Jwppdwt uwppwnpnudubn Q< hwwn 120 000,0 1,0 120,0
42041110 |Jwnwpwutbp b npwlg wwpwqulbp < hwn 198 000,0 1,0 198,0
42941160 |pUyndwts Yuwyniwgbipdng (pEpdnutnwn) Q< hwwn 498 000,0 1,0 498,0
38431430  |pwthwhwphsubp b npwig wwpwgquwubpp qc huwin 121 000,0 1,0 121,0
33191312 wwjwyb Ynpw Q< hwin 1200,0 50,0 60,0
33191312 (wwwlk Ynjpw q< hwn 1200,0 15,0 18,0
33191314 |wwwlb pwdwuhs dwqup /hnydwd dghyny Q< huwn 1000,0 40,0 40,0
33191314 |wwuwlb pudwiihs Swqun /hnydwd yahyny 9 huwn 800,0 30,0 24,0
33191312 |wwwlb Ynpw a< hwn 1.000,0 20,0 20,0
33191312 wwjwlb Ynpw Q< hwwn 200,0 10,0 2,0
33191312 wuwwlb Ynppw q< hwn 800,0 20,0 16,0
33791300  |jwpnpwuinnp wyjwlju wpnwnpwp qL hwn 1400,0 20,0 28.0
33791300 |pupnpwwinnp wwwljw wpnwnpwip QL hwn 1600,0 20,0 32,0
33791300  [jwpnpwwinp wujwljw wpiwnpwup < hwwn 200,0 10,0 2,0
33191310 thnp&wunpubn q< hwtn 1000,0 10,0 10,0
15991700  |bhywph pnine ac U 4400,0 30,0 132,0
33191317 |hwjubwywlt pwuhly a< huwin 1200,0 10,0 12,0
33791300  [jwpnpwinnp wujwljw wpunwnpwtp &< hwn 800,0 20,0 16,0
33791300  |jwpnpuwnnp wujwljw wpnwnpuip < huitn 1000,0 20,0 20,0
33791300  |jwpnpwwnnp wwywljw wpnwnpuip 74 huwn 2000,0 5,0 10,0
39221270  |pwu wjwundwuuw)t < huwn 450,0 50,0 25
3ag5i4pp  |IoUUWPLILLYWY uuignugLaph Linwg Ll 9< husn 400 000,0 1,0 400,0
hwywpwéniubip
33051400  |VEUUPLUUL wugnygUEph winuigul < huwin 355 000,0 1,0 355,0
hwywpwadniutip
aagoiqon  |[Phohulwl wanubjnugtin (ntnugkbunlion) ac | pubuqs | 149000,0 1,0 49,0
pwgiwyndwynubuwn
27152,3
angony  [PTOE G (e B 9< | Lpwywqs | 15000,0 1,0 15,0
pwqiwlndwnubuwn
el e e el e 9¢ | puywqs | 200000 1,0 20,0
pugquwlndwnubn
saagpigy PPl metingby foaui ERK ) 9¢ | pubwqs | 220000,0 1,0 220,0
pwqiwyndwnubun




phihwluwt wonwiynielp (ntiwgbunutn)

33691400 < whwad 2 1
pwquuynuiwynubun inwug i 0 2.0
phihwljwt wonwiynipbp (nbwqbtnutn)
33691400
i qc (nwlwad 20 000,0 1,0 20,0
phupwlwu wanwunetin (ntwgbunubn)
33691400 Vg
pwqdwundwnnhhm [Pwlwgqd 20 000,0 1,0 20,0
phihwlwy wgnwynebp (nbwgbnubp)
1
33691400 sl YL (nwlwgd 20 000,0 1,0 20,0
phihwlwl wonwiynyebip (nbwgbuwnutn)
33691400 S S Q< Inwlwaqd 20 000,0 1.0 20,0
phihwlwu wgnwuynuebp (nbwgbuwnutn)
33691400 T T 9< [(nwlwqd 20 000,0 1,0 20,0
24321660 qutwqu opquitwlw phdhwlwb Wnuyebip q< gpuwd 260,0 100,0 26,0
33621766  |wnwppent 9< g 2000,0 1,0 2,0
24311260  |uwwphnuwih hhnpopupn q< Ug 2 000,0 1,0 2,0
33691163 wquwnp, Eunnwqup YL hwn 30 000,0 3,0 90,0
24321610 uwfuwpngqw q< yg 8 000,0 3,0 24,0
33691163  [wquwp, Eunnwqup q< hwn 22 500,0 1,0 22,5
33691163  |wqup, Funnwguwn q< hwn 22 500,0 3,0 67,5
33691163 wauwn, Funnwaqwnp QL huwin 22500,0 3.0 67,5
33691163 wqup, Eunnwqup q< huwin 22 500,0 3,0 67,5
33691166 wwwnpwuwnh dhlypnphninghwlwu dhowdw)p Qg hwwn 50 000,0 4,0 200,0
32351310 utiunh thwpbpwynpiwl pwnuwptbp Qg hwtn 25 000.0 1,0 25,0
24311260  |uwwphnwih hhnpopuhn, §< ITe] 1820,0 4,0 73
131271 |ughlwigyusd unqw ¢ g 560,0 20 11
14781100 Yuughnud 4 g 2500,0 7,0 17,5
24311114 S5Upwlwu pren 9 yg 1330,0 13,0 173
14411400 wnwihu |ndnype QL lhunp 100,0 6,0 0,6
24321860  |wagnuwlwl pRn Q£ la 1200,0 3,0 3,6
e (I e e el et L ) Y lg 700,0 9,0 6.3
Lwd gpwunyubp
33691862  |pbupp hhnpwaght Qe g 1730,0 3,0 8,2
24321440  |pwgwfuwpeRnt Q< Yg 2000,0 10,0 20,0
243127 uwinphnwih Yuppnuwn Q< Ug 1250,0 1,0 1.3
44921200  |Ypp, thnzh 9< Ug 250,0 200,0 50,0
03321800 |6wqupubp uu hwn 1000,0 150,0 150,0
33691163 wgwpn, Eunnwquwp QL hwn 22 500,0 3,0 67,5
33691163 wquwp, Funnwquwn S< hwwn 22 500,0 3,0 67,5
13841
Py Bt e i s
Bpwlwiht hwdwlywnpgh, wpjwu 20.0 4.0
L I A 9< huwtn 200,0 : .
33141300  |atinungubip pdoywl ng unbiphy Q< hun 150,0 100,0 15,0
33141156 pdzywlwl danungubip a< hwun 30,0 1100,0 33,0
18311190 [huwjwp Y hwn 450,0 20,0 9,0
3141129 [npuul a¢ hutn 50,0 200,0 10,0
18441100  |qifuwplubp Qc huin 30,0 20,0 0,6
18811180 hnnuwpwthbp 74 qnyg 30,0 100,0 3,0




334 [ugnil uwbnwihbtp 14 huwtn 5,0 50,0 03
33141112 |uwbinwuhtbp (wjwuwnhp) £18 hwtn 400,0 5,0 2,0
33141110 Uhpwlwuwtip Q< huwtn 300,0 10,0 3,0
33141142 [ubpwplhsubp 9< hwin 50,0 50,0 25
33141142 ubipwpyhsutp q< hwn 40,0 50,0 2,0
33141144 |pdoljuljwt wubnubp 9< hwn 30,0 200,0 6,0
43411100 |wbuwlwynpnn b dwnbint uwppbip 9L huwn 4 800,0 4,0 19,2
24321400 [kphy winhn 9¢ (hinp 1800,0 22,0 39,6
24321311 hanwpnwhy uwhpwn ac {hwnp 1500,0 3,0 45
33141115 pd24wlwu pwdpwly < hwwn 200,0 15,0 3,0
03111250  |pwdpwy < g 2300,0 2,0 4,6
agiae  [PERIIN il (e gl q¢ dbnp 150,0 70,0 10,5
90ud
33691208 gﬂ::‘::‘"fr{:’h(ﬁgni‘z?nu‘ﬂ;:t‘u:’:;f;“”?M | huitn 700,0 25,0 17,5
33611420 Yuwighnuwih gniyntiwn a12aa03, d11ax03 QL hwn 600,0 100,0 60,0
33671135 Ywighnwh pinphn. BOSXA07 P hwn 500,0 10,0 5,0
33611350  |wulnpphuwpeent g01ad03, sO1xal5, allgaOl 9< hwn 70,0 200,0 14,0
Pnpwppnt, juwwph wgbinwtn, twnphnudp
33631440 | "uPIRUAR, Ul uuspghiuent, gl ) o o hwtn 400,0 20,0 8,0
opuhn, wlwtnifuh jnin, hbpuwdtphitu
inbwnpwidht, $npdwinbhhnh nidnye DOBAX
33691176  |wy nbnnpw)p 74 hwwn 700,0 30,0 20
33691176  |wy| ninnpw)p q< hwwn 9500,0 3.0 28,5
33141213 |pdolwlwt Juqgbiht Q< lg 1200,0 10.0 12,0
33691176 wy) nbnnpuwjp qg hwin 7 500,0 1,0 7,5
33691176  |wy| ntinnpwyp q< hwun 6 000,0 6,0 36,0
33691176 |wy nbinnpwyp < hwn 400,0 1,0 0,4
33631150  |ghulh opuhn. DO2AB 9 hwn 500,0 20,0 10,0
33691176 |wy| nbinnpuyp Q<L hwtn 3000,0 30,0 90,0
3369121 w|pbunwgn|p02ca03 qg hwn 7400,0 3.0 2.2
24451141 wfunwhwuhpg htnnwy unipbp < thunp 6 500,0 3,0 19,5
33691176 |wy ninnpwjp Q< hwtn 80,0 200,0 16,0
03341100  [wwywph wywugubiph whuinwlubp ac hwtn 500,0 100,0 50,0
44511250 ubinuhs wpgwtibip QL hwtn 17 000,0 1,0 17,0
44511250 ubinuhs wpgwuutp < hwwn 29 000,0 1,0 29,0
33691176  |w)| nbnnpw)p < hwn 7 500,0 2,0 15,0
33691176 |w nlinnpwp Q<L hwwn 2 800,0 20,0 56,0
33691176 wj| nbnnpw)p < hwn 3 000,0 50,0 150,0
33691176 |wy) nnnpuwp Q< hwtn 4000,0 50,0 200,0
33691176 wyy nbinnpwyp G< hwwn 600,0 300,0 180,0
33691176 [wy)) ntinnpwjp G< hwn 2800,0 30,0 84,0
33601700 | VEtEw / twunnhrudh ubBpun, kb a¢ hutn 23000 30,0 69,0
wgbwnww/
33691176 wy| nbnnpuwip ac hwn 700,0 100,0 70,0
33621680  |wpnwpwunpn) c07aa05 9< hwn 1900,0 10,0 19,0
15911100 uwppun < (htnp 1600,0 3,0 4.8
33141115 pdoljwljut pudpuly 74 hwtn 200,0 10,0 2,0
33691849  |wghuwnnu/ nhdbph| Yhnnb qc thtnp 1200,0 2,0 2,4




33621643  [hwlwubfuhs (wuwnhubwwply) hEnnyuep 9< [pnp 930,0 300,0 279,0
33141129 [nhuwy G< hwtn 20,0 4200,0 84,0
24451141 |wluwnwhwhs htinniy Uynuebp 9< (hwp 145,0 90,0 13,05
39831245  |ofwn, htinnly ¢ (htnp 156,0 150,0 234
33691176 wy| nbnnpw)p Q< hwuwn 13 000,0 6,0 78,0
1965,0
Rrndiwphdhluntbp, qupupnwbngebp b
qhtbgnpdwljut bynyetp
24451111 Upgwnwuwjwl hbnnly wnietip < thwp 15 500,0 10,0 155,0
24451120 [dnqwfuninbiph nbd wwypwpnn Yniebp < lhwp 7000,0 40,0 280,0
24441100  |quuwqw wwpuwpuwniebn < lig 240,0 750,0 180,0
24441100 quwquit wwpwpuwunietp Q< 1T 240,0 1500,0 360,0
24451110 |dhgwinwuwwl Ujnipbp < g 10 000,0 20,0 200,0
24451111 dhgwinwuwjwu hknnily uyniebip QL (hunp 22 000,0 20,0 440,0
24451111 dhowinwuwwiu htinntly unystip 9L {htnp 10 000,0 7,0 70,0
24451200  |ulilybph nbd wwjpwph Unebp Q< g 1800,0 120,0 216,0
24451200 uulph ntd wwypwph unyebp Qg ygq 4000,0 50,0 200,0
24451200 utytiph ntd wuwypwph wniptp q< Ug 2600,0 120,0 312,0
24451190 |ypdnnutiph nbd wwypwnh nptip Q< g 11 000,0 10,0 110,0
24441100  |qubiwqwt wwpwpuwingebn QX 176 140,0 10 000,0 1400,0
24441100  |qulwqul wwpwpnwgnipbip Q< lg 200,0 15 000,0 3000,0
24441100  |quuwqul wwpwpnwniebn Q<L Ug 200,0 5100,0 1020,0
24451111 dhgwnwuwwu hbnnly uniebp Q< thwp 11 000,0 10,0 10,0
24451111 Uhowwnwuwwu htinniy ujnyetip Qg thwp 13 000,0 10,0 130,0
24451200  |uulbph nbd wwjpwph Ynypbp Q< TTe} 13 000,0 10,0 130,0
24451111 dphgwinwuwwi hbnnily bynupbip Q< thunp 24 000,0 5,0 120,0
24451200  |utulbph nbd wuypwnh bnysbn Qs Lg 13 000,0 10,0 130,0
33691147  |pniuwujniebn ag thwp 20 000,0 5,0 100,0
33691117 wpunbdbpbp + (nuib$wunpht p01bf1 q< hwn 5500,0 40,0 220,0
24451200  |utiytipp nbd wwjpwph Ujnibip ac lg 5000,0 20,0 100,0
24451120 Unjwlununbiph nbd wwjpwnnn Ujnistin qC lhwip 2500,0 64,0 160,0
24441100  |qulwqul wwpwpuwljnupbin < lg 125,0 800,0 100,0
24451200 |uulbph nt wwipwph Uit < Ug 2500,0 100,0 250,0
33691147  |pniuwlynyplbip Q<L thwp 24 000,0 18,0 432,0
24451200 uuytph nbd wwjpwph et q< ug 73 000,0 10,0 730,0
24451200  |uultiph nbd wwjpwph Ynpbp ag ug 73 000,0 2,0 146,0
33691147  |pniuwuniplip qL thwip 18 000,0 35,0 630,0
24451200  |utlytiph nbd wuypwph Unipbp Qs g 13 000,0 30,0 390,0
24451200  |uulbiph nid wwypwph Ynutin Q< la 7000,0 50,0 350,0
24451200 uulybph nbd wwpwnph Yniebp QL Lg 11 000,0 60,0 660,0
33691147  |pniuwlnyebp Qg lhunp 59 000,0 8,0 472,0
33691147  |pniuwunyetin q< (hup 14 000,0 8,0 112,0
33691147  |eniuwbyniety < (hwtp 75 000,0 1,0 75,0
2445111 dhgwinwuwwt hinnly tniplip < Lhup 21 000,0 13,0 273,0
2445111 [Uhowunwuwwt htinnl Uynyatip < lhtnp 15000,0 10,0 150,0
24451110 |dhgwinwuwwt Wnystp 9 Ug 102 000,0 5,0 510,0
24451110 Uhgwinwuwwl uynitip acL Ug 99 000,0 5,0 495,0
24451111 Uhowinwuwywt htinniy ujnipbp q< (hunp 22 000,0 15,0 330,0
2445111 Uhowinwuwywt hinniy uynietip 9< (hwp 10 000,0 40 40,0
24451111 [Uhguwinwuww htnniy bjnysbip T4 {hwp 23 000,0 2,0 46,0




24451111 dhowunwuwwu htinniy tynyebip Q<L (hnp 24 000,0 4,0 96,0
24451120 |dnjwfunwibiph nbd wwypwpnn Ynuebin K lhtnp 7680,0 100,0 768,0
24451120 |dnjwfunwintiph nbd wwypwpnn Ynuebip < {hwp 13 000,0 20,0 260,0
15931910  [ghubignpéwlwl pwljintiphwltp &< wnntth 65 000,0 4,0 260,0
15931916 |ghUbignpdwlwl Ywyniuwglnn Ujniptin < g 15000,0 2,0 30,0
24311290  |odnudp < g 1000,0 3,0 3,0
24111160 wgntn Q< u3 2500,0 24,0 60,0
ub
1503191 |HMuEGnndulul pulunbphulisn as wnih 30 000,0 40 120.0
utiunwiuynuship
39224440  |pobip Q< hwtn 30,0 400,0 12,0
39224440  |pobip 9< hwin 10,0 400,0 4,0
39224440  [gobp QL hwtn 200,0 3 060,0 612,0
39141370 ghunt dwnwuh wwpwgwubp 9< hwtn 1500,0 200,0 300,0
39224471 [ghunt 22wglwit wwpwgwubp QL hwin 17 800,0 1,0 17,8
39224471 |ghunt 22wigdwil wwpwgwubip Q<L hwn 20 200,0 1,0 20,2
39224471 |ghunt 2wgdwt wwpwgwubp < hwwn 20 200,0 1,0 20,2
24311129 qulwqul wuopguiiwluwu phdhwlw Unyetp < qpwd 30,0 1000,0 30,0
24321840 widnupmwih nnnwuhun L Lug 1500,0 50,0 75,0
24321840  |wdnupnuih nnnwthun QL g 1500,0 30,0 45,0
24311600  |pnpwpent QL g 800,0 2,0 1.6
24321650  |qihgbiphu q< lg 1500,0 4,0 6,0
14781100 |Ywghnud &< g 2000,0 30,0 60,0
33611430  |wihnuwip jnnhin r05ca02, s01xa04, v03ab21 < lg 40 000,0 30 120,0
33611430  |Jwihnwh jnnhn r05ca02, s01xa04, v03ab21 q< Ug 35 000,0 1,5 52,5
14781100  |Ywihnud 9c Ug 2400,0 20,0 48,0
33691134  |Ywihnuih pinphn a12ba01, b05xa01 9< la 800,0 20,0 16,0
33621766  |wnwppent < lg 6 000,0 2,0 12,0
14771400 Yuzghnd < yg 3 000,0 20,0 60,0
uwinphnudh pinphn, Ywihnuh pinphn,
33691129 a< 800,0 5,0 4,0
Ywighnwh pinphn (nhugtinh (ntdnye) #
14781200  |Jwgubighnu 9< g 2500,0 10,0 25,0
24311129 |quiwqut wiopquiwlwy phuhwlwt Wniplip | < gpwd 4,5 3000,0 13,5
24311114 |88dpwlwl ppnt Q< g 1000,0 5,0 5,0
24321660 quwqwl opquiwywi phihwlwu unuyebn T gnwd 3,0 50 000,0 150,0
24321660  |quuwgquw opguuwlwl phuhwlw Ujnuetn Q< gpwd 15,0 10 000,0 150,0
24321660  |quuwqul opqutwlwl phdpwlyw wnieplin Q< qpwd 1,5 4 000,0 6,0
24321660  |quuwquit opquwlwy phdhwlwu Yjnuatin Q< gpwd 8,0 5 000,0 40,0
24311129 quuwqul wuopqwuwljwu phuhwlw unuatip q< qpwd 30,0 1000,0 30,0
24321840  |wdnupnuih nnnwthn 9L g 1500,0 50,0 75,0
24321840  |wdntpnuwih nnnwthn q< lg 1500,0 30,0 45,0
24311129  |quiwquwt wuopquiwlwl phihwlwl Yniebn q< gpwd 30,0 1000,0 30,0
quitiwqu wuopgwiwlwl phuhwlywl Umpbp Q< gpwid 1,0 3 000,0 3,0

24311129




24311129 |quiwqul wuopquwlw phdhwlwy ymptn 74 gpuwd 6,0 3000,0 18,0
33611430  |Ywyhnuwih jnnhn r05ca02, s01xa04, v03ab21 < g 40 000,0 1,0 40,0
14781100  |Ywyhnud qg g 2 400,0 2,0 4.8
33621766  [wnwppent Q< Yg 800,0 3,0 2.4
uwwnphnwh pinphn, Ywihnwh pinphn,
33691129
uighnuh pinphn, (shtgtiph midnyge) bl Yo AR 6.0 15.0
14781200  |dwqubghnul Q< 4g 4 500,0 5,0 22,5
2431129 quuwqwu wuopgwuwlwu phuhwywl Unuebn Q< gpwd 4,5 5000,0 22,5
24311260  |uwwnphnuih hhnpopuhn Qg la 1000,0 40,0 40,0
24311114 [dddpwlwb ppnt Q4 o 1000,0 20,0 20,0
24321660  |qulwqul opquitiwlwt phihwlwl Wnwebipn qc apwd 3.0 5000,0 15,0
24321440  |pwgwfuwppnt a< ug 1200,0 10,0 12,0
24321660  |quuwquit opquitiwlwu phihwlwu bnebin Q< gpwd 8,0 3 000,0 24,0
24311420 GpYwpeh untbuwn Q< Ug 2000,0 5,0 10,0
24311200  |pnudnpuljwit pent 9L ug 1500,0 10,0 15,0
24311480 Yuwhnuih wbpdwiqwuwn QL Lg 4500,0 1.0 4,5
24321840  |wdnuhnuwih nnnwthin Q< g 800,0 15,0 12,0
33691855  |wpdwph Uhtnpwn Q< Ug 600 000,0 0.2 120,0
24321660  |qulwquwt opquitiwywy phihwlwl bynebp qg qpwd 850,0 250,0 212,5
Utiphyphnuhth pinphn (Ubphiku
33691142 £ 100 000,0 0,2 20,0
Lwuynyin)v03ab17, vO4cg05 q i g
33691851 vwwnphnud - Juihmd ghubppeduljwt QL g 3 000.0 2,0 6,0
33621766  |wnwppnt Q< ug 1200,0 2,0 2,4
24321840  |wdnupnidh nnnwlpwn 9L lg 3000,0 5,0 15,0
24311410 wyntihup unydwn Q< Ug 1200,0 5,0 6,0
24321660 quiwqwl opquuwljwt phdhwljwl Yniebn Q< qpwd 400,0 100,0 40,0
14711410 ghuly dbunwnwlwu gpuwunyugyuwsd 9L LUg 6 000,0 0,5 3,0
24311129  |quitwquwu wuopgwuwlwu phuhwlwu bjnyetp < gpwd 3,0 500,0 1.5
24321440  |pwgwfuwpEnt Q< g 1200,0 1,0 1,2
24321660  |quitiwqut opquwlwl phipwlwl Ujnyetip 74 gpwd 600,0 70,0 42,0
2444100  |quiliwqul wwpwpiwlynystip 9L g 1600,0 50,0 80,0
24441100  |qulwqul wwpwpnwynpbp q< Lg 1600,0 50,0 80,0
24441100  |quiiwquitt wwpwpuwynibp a< LUg 1000,0 50,0 50,0
24441100  [quiwquit wwpwpuwnpbn a< LUqg 1000,0 50,0 50,0
24441100  |quuwqut wwpwpiwnyebip q< Yg 1000,0 50,0 50,0
44421700  |wplynbp uu hun 450,0 530,0 238,5
44421700 wnpynbp uu hwuwn 570,0 712,0 405,8
39561140 nbynpwinhy qupnwuwfubp uu hwin 9 600,0 1,0 9,6
39561140  |nbklnpwinhy quiprwtiwtuztip uu huin 9600,0 4,0 38,4
20769,4
39111180  |wpenn' gpuiubywlwihu G4 hwin 21.000,0 5,0 105,0
39111180 wpenn’ gpuubtywlwhtu Q< husn 10 000,0 20,0 200,0
39111220 |pwqlwpenn’ nywywph 74 hwtn 90 000,0 1,0 90,0




39121520 [gpuwwhwpwubtp L4 hwn 59 000,0 1,0 99,0
39121520 |gpuwywhwpwlbbp 9 huwtn 73 000,0 1,0 73,0
39111180  |wpnn’ gpuubtywlwyhl qc hwn 6 450,0 2,0 12,9
39111180 |wpenn' gpuubbywljw)hu Q<L hwtn 50 000,0 1,0 50,0
39111180  fwpnn' gpwubtywlwhu q< hwtn 21 000,0 1,0 2,0
39111180  |wpenn' gpuwubtyjwlwhu qc hwn 80 000,0 1,0 80,0
39121100 |gpwubnuuutp < hwwn 36 000,0 22,0 792,0
39121440 |ubnwt’ Uwluwqwhnipjwu 9< hwtn 300 000,0 1,0 300,0
39141260  |qqbunwuwwhwpwllibp q< hwtn 110 000,0 2,0 220,0
39121520  |gqpwwywhwpwtitbp q< hwn 260 000,0 1,0 260,0
39111180 wpnn’ gpuubuwlywihu < hwwn 42 000,0 28,0 1176,0
39111170 wpenn’ thwthnl Q< hwn 40 000,0 2,0 80,0
39111230 thnpp pwqungutip 9< hwtn 200 000,0 1,0 200,0
44421300  |shphpqunn wwhwpwitbp 9< huwtn 105 000,0 1,0 105,0
39121200  |ubnutiubp Qg huwin 80 000,0 1,0 80.0
39111140 wpnnubp QL hwn 33 000,0 4,0 132,0
39121500  |funhwunguyhu wwhwpwuubp < hwn 195 000,0 1,0 195,0
39111220  |pwqlwpnn’ niluwph 9 husn 80 000,0 1,0 80,0
09211100  |pwpdhsh jrinbp Q< {hunp 3 000,0 2,0 6,0
09211100 qwndhsh jnintip e, lhip 3 000,0 2,0 6,0
09211650  |wpgbwyh hbnny Q<L (htp 1100,0 8,0 8,8
ogztigop [l huwlupgtipnud L e i 2500,0 2,0 5,0
Uwywinwlutipny ogwwgnpdynn jnuntip
09211400  [thnjuwtguwl wnihh jintip W (hwp 2400,0 10,0 24,0
09211150  |(hwnj-24 q< Yya 1800,0 60,0 108,0
09211820  |uwypwhu jninkip 9< (hup 1100,0 50,0 55,0
09134100  |nhqbwhu jninbip < (htnp 1200,0 310,0 372,0
09211100 swndhsh jnnbip Q<L (htnp 1500,0 40,0 60,0
09211100  |pwpdhsh jnuntp < lhunp 4000,0 52,0 208,0
2495131 hwlwuwnbignighs Uynyetin < (hwnp 700,0 70,0 49,0
09211620 inbfuuninghwlwt jnintip Q< (hwp 10 000,0 0,2 2,000
903,8
Ywnbithp
09411710 ubnuywé puwlwu quq Q< Ug 350,0 15 600,0 5460,0
09134200  |nhqbywiht Junbjhp, wdwnwihu QL thwp 370,0 16 000,0 5 920,0
09132200  |phught, nbigniywp a< thwip 400,0 16 000,0 6 400,0
09132100  |phught, wpbupnud a< thun 420,0 8 000,0 3 360,0
21140,0
: Uigjennu s g el ki umw
44611200  |qugh puintitbn Q< huwn 50 000,0 1,0 50,0
42131250  |quaquiht punuiubiph thwlwbp ac huwtn 10 000,0 1,0 10,0
44161110 ququiht funnnjulwwnbp Q< dbnp 1000,0 9,0 9,0
42131250  |ququyht pwnutbiph thwlwbubp < hwwn 25 000,0 2,0 50,0
35121290  |whsubip a< hwn 2000,0 5,0 10,0
44322200  [dwnfu, Ebuwpwlwt wp q< dbinp 2000,0 5.5 11,0
3121100 |GjbYepwlwt vwppwynpnuubiph Jwhwwlutp G< hwn 25000,0 2,0 50,0
34331300 wunnibpbuwutiph wwhbunwdwubp ac hwn 5 000,0 3,0 15,0




16811100  |gynunuentinbuwywl uwppwynpnwubph dwubp|  4<€ huwtn 1350,0 30,0 40,5
16811100  |gnuwntnbuwlwl uwppwinpnuiubph dwubip|  9< hun 250,0 60,0 15,0
16811100 qninuwinunbuwlwu uwppwynpnudubph dwubp q< hwtn 1350,0 50,0 67,5
44531190 Z‘"ﬁ:’ﬁp‘;‘;’; ey 9< g 1200,0 3,0 3,6
44531180  [dwubl G g 1300,0 1,0 1,3

16811100 qnuwintnbiuwlwt uwppwynpnuwiubph dwubp q< hwtn 400,0 100,0 40,0
34331300 wyinndbpbuwubinh wwhbutnwdwubip Q< hwtn 9 000,0 1,0 9,0
34331300 wywnndbpbuwubph wwhbunwdwubp QL hwwn 25 000,0 1,0 25,0
34331300  [wywndbpbuwubph wwhbunwdwubp Q<L hwun 5000,0 4,0 20,0
34331300  |wwnnibpbuwubiph wwhbunwdwubp Q< hwn 4200,0 6,0 25,2
34331300 wiwndbpbuwutinh wwhbunwdwutin < hwiwn 1 000,0 8,0 8,0

34331300  |wywndbtiptuwutiph wwhbuwnwdwutp < huwtn 1100,0 4,0 4,4

34331300  |wywndtpbuwutiph wwhbunwdwubp < hwwn 2200,0 4,0 8,8
34331300 wywnndbpbuwubph wwhbumnwdwubp q< hwn 3500,0 2,0 7,0

34331300  |wynndbpbuwbbph wwhbunwdwubp e hwin 3500,0 4,0 14,0
34331300  |wyundbpbuwubiph wwhbunwdwubip < hwwn 3700,0 1,0 3.7

34331300  |wwndbpbuwbbph wwhbunwdwubp e hwtn 4.000,0 1,0 4,0

34331300 wywnndbpbuwutph wwhbuwnwdwubp q< hwtn 5 000,0 1,0 5,0

34331300  Jwywndbtiptuwubiph wwhbunwdwutip < hwtn 20 000,0 1,0 20,0
34331300  |wywndbpbuwubph wwhbunwdwubp Q< hwwn 5000,0 1,0 3,0

34331300 wywndbpbuwubph wwhbunwdwubp Q<L hwin 13 000,0 1,0 13,0
34331300  |wywnndbpbuwtbiph wwhbunwdwubp R hwwn 20 000,0 1,0 20,0
34331300  |wywndbpbuwubph Wwhbunwdwubp Q< hwn 15 000,0 2,0 30,0
34331300  |wywnibpbuwubph wwhbuwnwdwubp < hwtn 8 000,0 2,0 16,0
34331300 |wywndbpbuwubph wwhbunwdwubp Q< hwn 32500,0 2,0 65,0
34331300  |wyduwindbipbuwutph wwhbuinwdwubp 9 hwtn 8 500,0 1,0 8,9

34331300  |wywnndbpbuwibph wwhbunwdwabp q< hwn 10 000,0 1,0 10,0
34331300  |wywndbpbuwubph wwhbutnwdwubp Qg hwun 6 000,0 1,0 6,0
34331300  |wywndbtipbuwutiph wwhbunwdwubp 9< hwn 4500,0 2,0 9,0

34331300  [wywndbipbuwubinh wwhbunwdwubip Q< huwtn 6 000,0 1,0 6,0

34331300  |wywndbpbuwbbph wwhbunwdwubp QL hwwn 4 000,0 1,0 4,0

34331300  |wywndbpbuwlbph wwhbunwdwubp Q< hwn 5000,0 2,0 10,0
34331300  |wywndbpbuwubph wwhbumnudwutp Q< hwwn 1500,0 2,0 3,0

34331300  |wywndbpbuwutbiph wwhbunwidwutip 9< hwn 1500,0 2,0 3,0

34331300  |wyinndbpbuwubph wwhbunwdwubp ac hwn 3000,0 2,0 6,0

34331300 wywnndbpbuwubph wwhbunwdwubip QL hwn 3500,0 2,0 7,0

34331300  |wywndbipbuwutph wwhbunwdwutp < huwn 4000,0 1,0 4,0

34331300  |wywndbpbuwbph wwhbunwdwubp < hwn 16 000,0 1,0 16,0
34331300  |wyunndbpbwbph wwhbunwdwubp QL hwin 35000,0 1,0 35,0
34331300  |wywnndbphuwbbph wwhbunwdwubp Q< hwwn 5500,0 1,0 55

34331300  |wywndbpbuwtbph wwhbuwnwdwubp q< hwn 1500,0 1,0 1,5

34331300 wywnibpbwubph Wwhbuinwdwubin QL hwun 2 000,0 1,0 2,0

34331300 wywnndbpbuwubph ywhbuwnwdwubp Q< hwin 15 000,0 2,0 30,0
34331300  |windbphuwutiph wwhbunwdwubp q< hwtn 10 000,0 2,0 20,0
34331300  [wywndbipbuwutiph wwhbBuwnwdwubip q< hwn 7000,0 2,0 14,0
34331300  [wywnutipbiuwtbiph wwhbunwdwubip G< hwin 7000,0 2,0 14,0
34331300  |wiinubipbuwutiph wwhbunwdwubp K huwn 11 000,0 2,0 22,0




34331300  [wywnubipEuwttph wwhbuwnwdwutp 9< hwtn 6 000,0 2,0 12,0

34331300  |wyundbipbwtbph wwhbunwdwutin G huwn 8 000,0 20 16,0
34331300  |wywndbtipbtwubiph wwhbunwdwubp < hwtn 11.000,0 40 440
34351600  |gnununtinbuwlw dbpbuwbbph wuhyutp q< huwwn 180 000,0 4,0 720,0
34351600  |gnuqwwnuuinbuwlwu dipbuwutiph wuhyubip < hwn 80 000,0 4,0 320,0
34331300  |wywndbiptuwubph wwhbunwdwubp q< huwin 27 000,0 2,0 54,0
34331300  |wywindbipbuwubiph Wwhbunwdwubn 9< hwwn 60 000,0 4,0 240,0
34331300  |wywnndbpbuwubiph wwhbunwdwubp QL hwwn 32 000,0 4,0 128,0
34331300 |wywndbpbuwubph wwhbunwdwubp Q< hwn 25 000,0 4,0 100,0
34331300 wywnndbpbuwubph wwhbunwdwubp 9L hwin 65 000,0 4,0 260,0
34331300 wywmnutiptuwutiph wwhbuwnwdwubip Q< hwin 65 000,0 4,0 260,0
34331300  [wywndbpbuwutiph wwhbunwdwubn Q< huwin 40 000,0 1,0 40,0
34331300 |wywndbipbuwutph wwhbunwdwubp Q< hwn 100 000,0 1,0 100,0
34331300  |wywndbpbuwbbph wwhbuwnwdwubp q< hwn 130 000,0 1,0 130,0
34331300  |wywndbpbuwubph wwhbunwdwubp Q< huin 15 000,0 2,0 30,0
34331300  |wywndbpbuwubiph wwhbunwdwubp < hwwn 15 000,0 2,0 30,0
34331300  |wywnibipbuwubph wwhbGunwdwutp q< hwn 9 000,0 2,0 18,0

34331300  |wywndbpbuwtbinh wwhbunwdwubp Q< hwwn 35000,0 1,0 35,0
34331300  (wywnubipbuwubiph wwhbunwdwubip G< hwn 10 000,0 1,0 10,0

34391100 |wpwlwnpubiph wwpwgwlbp < hwwn 80 000,0 1,0 80,0
16811100 qyninwuntitnbuwlw uwppwynpnuubinh dwubip q< hwn 55 000,0 1,0 55,0
16811100  |gyninwintnbuwlwy uwppwynpnudubiph dwubp < hwn 23 000,0 1,0 23,0

16811100  |gyninwwntinbuwlwt uwppwynpnidubiph dwubip Q< hwin 4 000,0 4,0 16,0

16811100 gniquintunbuwlwt uwppuinpaudutiph dwubip QL hwn 2500,0 2,0 5,0

16811100 gninuintnbuwlwt vwppwynpnudubph dwubp q< hwtn 2 000,0 6,0 12,0

16811100  |eyninuintinbuwlwt uwppwynpnuiubiph dwubip Q< hwwn 6 000,0 2,0 12,0

16811100 gninwuntnbuwlwt vwppwynprudubph dwubip QL hwtn 14 000,0 2,0 28,0
31431100 Yuwwjwpwepyuwihu Ynunwlyhsubp L hwun 45 000,0 1,0 45,0
31431100 Yuwwpwppywiht Ynunwyhsubp a< hwn 47 000,0 4,0 188.,0
31431100 |Yuwwwpwpepdwiht Ynunwlhsutp QL hwtn 60 000,0 1,0 60,0
31431100 [Yuwwwpwepdwiht Ynunwlhsubp Q<L hwun 75 000,0 2,0 150,0
44441200  |qunhluinp wnwlgpwljuwiutip < hwn 3 500,0 12,0 42,0
42141190 ||putinubiph Ygnpnhsubip < hwn 55000,0 1,0 55,0
34331300  |wiinnubipbuwubiph wwhbuwnwdwutp QL hwwn 7500,0 1,0 7.5

34331300  |wywnibpbuwtbinh wwhbunwdwubp Qg hwun 10 000,0 1,0 10,0
34331300  |wywnibipbuwubph wwhbunwdwubp Q<L hwwn 1000,0 2,0 2,0

34331300  |wywndbtipbuwtbtiph wwhBuwnwdwubp Q< hwn 40 000,0 1,0 40,0
34331300  |wyunnibpbbwutiph wwhbunwdwubp Q< hwtn 6 000,0 2,0 12,0
34331300  |wywnibphuwutnh wwhGunwdwubp qC huin 7 000,0 2,0 14,0
34331300 wywnndbipbiwubph wwhbunwdwubp Q< hwun 12 000,0 1,0 12,0
34331300 |wiwndbpbuwubph wwhbuwnwdwubp QL hwtn 1500,0 2,0 3,0

44441200 qunhlwynp wnwugpwlw(ukp q< hwun 2200,0 3,0 6,6

44441200 | qunhlwunp wnwigpwlwutip < hun 5500,0 4,0 22,0




44441200 | qunhlyuinp wnwgpwlywiutip 9 hwn 4400,0 2,0 8,8
44441200 | qunhlwyjnp wnwigpwljwiubp q< huwin 3000,0 4,0 12,0
44441200 | qunhlwynp wnwugpwluwiubp Q< hwin 9000,0 1,0 9,0
44163171 | nbnhtb Junnnyuy 1, 172" 9< dbitnp 4000,0 8,0 32,0
44423640 | ntinhub dhownhpubip 9< hwn 200,0 10,0 2,0
44423640 nbwnhubi dhownhpubp 9L hwuwn 200,0 6,0 1,2
44423640 | nbunhtb Shewnhpubip ac hwun 200,0 4,0 0,8
44423640 nbunhub dhownhpubp QL huwin 650,0 4,0 2,6
44521160 2nprwutin 9L dbnp 3 500,0 7,0 24,5
42121100 ;&'H;';’#‘h” ] orusglohs (1ultdunnhly ac huitn 35 000,0 2,0 70,0
44163180  |wnnuunt funnnyuly 4c Ug o14,3 73;3 377
44441200 | qunhlwynp wnwugpwlwiubp < hwtn 2200,0 3,0 6,6
44441200 | qunhlwynp wnwlugpwlwiutip Qg hwwn 5500,0 4,0 22,0
44441200 qunhlwynn wnwugpwljw ubn q< hwn 4 400,0 2,0 8,8
44441200 qunhlwdnp wnwugpwlw|ubp q< hwin 3000,0 4,0 12,0
44441200 qunhlwynp wnwugpwlwubp 9L hwn 9000,0 1,0 9,0
44163171 ntwnhub funnnyuy 1, 1/2" 4 dbunp 4 000,0 8,0 32,0
44423640  |ntwnhubi dhownhpubp Q< hwin 300,0 10,0 3.0
44423640  |ntwnhub dhownhpubp < hwwn 300,0 6,0 1,8
44423640  |nbtwhub dhownhpubip < hwwn 300,0 4,0 1,2
44423640  |ntiinhubi dhownhpubp g hwtn 650,0 4,0 2,6
agnay  [CRAAEBRGUUR, huenaun. gnpukiiens | huwn 65 000,0 1,0 65,0
ud wuynwugnipjwl thwlwuubp
44441200  |qunhlwynp wnwugpwlwiubp Q< hwwn 9500,0 2,0 19,0
42921180  [yptinpubin a< hwtn 60 000,0 1,0 60,0
44118310 wnnuwnb phebin Q< ITs1 750,0 59,0 44,25
wnwiduwynp thnjuwughsubp b wiinwduwyn
42141140 qmruwhgh‘isz ‘hh l‘l‘wnngé': ¢ tn 9< huwtn 610 000,0 1,0 610,0
42141140 ﬁfﬁ”ﬁ:ﬁ:gp";"ﬁﬁ:ﬁ;‘:ﬁw Aoy IR ac hwn 650 000,0 1.0 650,0
44311110 guwujwwwwndwy JEunwnwwnpbp 9L dbunn 12,0 3125,0 375
34351600  |gninwwntnbuwlw dtpbuwutiph wuhyubtp Q< hwn 60 000,0 4,0 240,0
34331300  |wywndbpliuwubph wwhbunwdwubip uu huwin 65 000,0 1,0 65,0
6 450,0
GYnuuintbnbuwljwt nbjuthiw b
wyghgnpdwijut wuypwbipbip
16311400  |juntnhtihy Ubpbuwbbn ac huwtn 45 000,0 1,0 45,0
16311400  |funwnhudhy dapbuwubin 9< hwtn 5000 000,0 1,0 5000,0
03451600  [bwnbip uu huwitn 1500,0 10,0 165,0
03451600  |dwnbip uu huin 1500,0 20,0 30,0
03451600 dwnbp uu hwuwn 1800,0 400,0 720,0
34131220 [wpwlwnpubp Q< hwin 0,0 1,0 0,0
16111100 gnipwuubip < hwin 0,0 1,0 0,0
16121300 Ynuwhywwnnpubp L hwwn 0,0 1,0 0,0
16121100 gwpwiubp Qg hwn 0,0 1,0 0,0
16311400  |juninhuahs Jtpbuwubp Q< hwn 0,0 1,0 0,0
16141100 wwpwpuwynietiph gphsubip 9< hwuwn 0,0 1,0 0,0
16131100 ubpiuwgul Jhptuwubp q< hwwn 0,0 1,0 0,0




5960,0

Pwdwbnpnwgpniejnit
79981100 pwdwiunpnwgniwl dwnwjniypnitubp 9L hwiun 12 500,0 12,0 150,0
79981100  |pwdwunpnuwaniwl dwnwjnusjniubp QL huin 8 800,0 12,0 105,6
79981100  |pwdwlinprwgndwt Swnwjnipgnittiin QL hwin 14 000,0 4,0 56,0
79981100  |pwdwtnprwgpdwl Swnuwynusjniuttn 9c hwwn 10 500,0 12,0 126,0
79981100  |pwdwtnpnuwgpuiwt wnwjnysjnitbn 874 hwn 5400,0 12,0 64,8
79981100 | pwdwinpuigndu Swnwniejniutibp Q< hwin 8500,0 8,0 68,0
79981100 pwdwnprwgpdwl Swnwjnuyenitbp q< hwin 7300,0 12,0 87,6
79981100 pwdwunpruwgnpiwy dwnwjniegjniutbn S 74 hwn 7 300,0 12,0 87,6
79981100  |pwdwlnpnwgnuiwy Swnwjnip)niuubip Q< hwn 8 600,0 8,0 68,8
79981100  |pwdwunpnwqnuwl dwnwjnuginiutibin qc hwn 14 000,0 12,0 168,0
79981100  [pwdwtinpugniwl Swnwnuejnitibp 74 hwin 20 500,0 12,0 246,0
79981100 pwdwunpnuwgpdwl Swnwjnpnitubn Q< hwin 2500,0 10,0 25,0
79981100 Pwdwunpiwgpiwy dwnwjnigjniuutip 9< hwwn 7500,0 6,0 45,0
79981100  |pwdwlnpnwgniwl Swnwjnipniiubp Q< hwwn 200,0 676,0 135,2
79981100  |pwdwunpnwgpdwy Swnwnieiniuubp q< hwn 100,0 756,0 75,6
79981100 pwdwunpnugpdw dwnwjnugyniutbp Q< hwn 4 000,0 12,0 48,0
92411100  [PUNPERRL puidwlinanugniw a< Wy 8 000,0 8,0 64,0
dwnwnugniuibin
1621,2
, 2hu ubiph pu dwu
45461100 | 2°URUN. 2hUnueiniiuinh pipuwighl Unpng 9< nowd | 60000000 1,0 6 000,0
wofuwinwuptbin
Bupbph, 2hu uubph pupwghl tnpngdwl
45461100 [2earh. ahunueiniibnh pliguighly tinpng e nowd | 2000 000,0 1,0 2000,0
w2fuwwinwlplbp
. uuty
45461100  [27URUPD: 2PunipimtLinh pUpwghl Uinpngduil |- o npwd | 2000 000,0 10 2 000,0
wofuwwnwupubip
Guptiph, ohu uubiph pu u dwil
45461100 |2RU 2hUnteynilbiinh plipuighl Unnnguui a< nowd | 20000000 1,0 2000,0
waluwwnwupubin
uub,
45461100 |2URUP, AUnkpInLLETh plpughlomngul | g ) e | 570000000 | 1.0 57000,0
wi2fuwnwupubin
45461100 2tuptiph, shunugjniuubiph pupwghl tnpnguwl Q¢ npual 0.0 1.0 0.0
wpfuwwnwtptibip
69 000,0
- 3 " ) ¥ ’ Lo ""f""" OO Y, e W
thwuwnwpenebph junwdwpdwy 1200 0 1.0 1200.0
48311100 huiwlwpaguiht Spuwgpuyht thuebptbn uu npwd 000, A )
79211150 wnuhunnpuljwt Swnwynugniuubp q< rppwd 3 000 000,0 1,0 3000,0
79111200  |ubpluywgnigswlywl dwnwjniegjniubip uu npwd 5000 000,0 1,0 5000,0
79341100 gnjuqnuiht dwnwjnipiniuubp < npwd 3 000 000,0 1,0 3 000,0
50531140 thnpéwplunipjwl dwnwjnientuutbn uu npwyd 500 000,0 1,0 500,0
45231147 Yynynunwgnbinh dwppdwt wpuwnwuplbp uu npwd 990 000,0 1,0 990,0
7oanzi0  |Funubinh htn uiuuws funphppuinguibut LRU npwd 5 892 000,0 1,0 5 892,0
dwnwjnuyniibitin
79811100  [pywyht wnwwgpnugiwl dwnwjnieniutbp Q< npwd 350 000,0 1,0 350,0
ogrrny  |MudnAtaniel wiwhnyu uu npwd | 840 000,0 1,0 840,0
duwnwynigniulibn
soang | ORI mpYY G i L uu apwd | 9900000 1,0 990,0
Ybpwunpngdwl dwnwjnieiniubibip




gtiliptipnud inbinwiuyywé fahupwywl

50711100  |uwpptiph Epwinpngdwt b wwhwwhdwl uu npwd 990 000,0 1,0 990,0
Swnwynuanitiibin
wynndbipbuwub wudw
63711220 |, e ety L pasonir uu m 100 000,0 1,0 100,0
winwjnipniutbn
73432100  |Ujnupwlwl wpdbpubph quwhwwnnud uu npwd 990 000,0 1,0 990,0
65211100  |qugh pwolunud uu npwd 36 300 000,0 1,0 36 300,0
w2fudw W npw htwn Juwywsd
65100000 |2 Pui2iuwl L nu htin Guiyy uu nowd | 16185 000,0 1,0 16185,0
duinwinip|niutibip
65311100 bblwnpwluwnyeywt pwztunwd uu npwd 62 350 000,0 1,0 62 350,0
gosimzo  |bbaunushl wanh hudwadul uu a 1000 000,0 1,0 1000,0
Swnwjnipniuubin o ¥ ¥ g
66111200 pwuljujhtt Swnwyniupgniuubp uu npuwid 300 000,0 1.0 300,0
32411130 hwdwguitg Q<L nnwd 700 050,0 1,0 700,05
50531140  [thnp&wplunipjwl dwnwjnieinitubp uu npwy 7 000,0 5.0 35,0
66511430  ||pwgnighs wwwhnywgpiwl dwnwinueniuubp Uu npwd 670 000,0 1,0 670,0
ghuwljwl hbtnwgninnypniutph b
73311100 thnpéwpwpwlwy dywydwl wyiwtwynpnud b Q< npwd 1100 400,0 1,0 1100,4
hpuwignpdnid
66511430  |jpwgnighs wwywhnwgplwl Swnwjnigniiubp uu npwd 247100,0 1,0 2471
ghinwlwt hGnwgnunygniiubph b
73311100 thnpéwpwpwlyw dawldw wwuwynpnod b QL nnpwd 1150 000,0 1,0 1150,0
ppwgnpénid
sasifipy  |UECRR0R Wnbnnngil L dsbouihil uu nnul 440 000,0 1,0 440,0
Swinwjnuzjnibip
71351540 nbfuuhywluwu hulnnnipjw dwnwjnianiutbp uu npwd 185 000,0 1,0 185,0
70631000  [vwnuilingbbnh dbpusy nnosnduit ac W 13 000,0 8,0 104,0
Swnwjnieniuutp
64121200 thnuwnh wnwpdwl Swnwjnipjniuubp uu npwd 30 600,0 1,0 30,6
71351540 unbluuhjwlwl hulnnnipjwt dwnwjnipniutbp uu npwd 306 000,0 1.0 306.0
63521200  |pbinubiph thnfuwnpduwt dwnwjnysgniuubp 9< npwd 1430 000,0 1,0 1430,0
63521200  [pbnubiph thnfuwnpuwl dwnwjnijniuttn 4< npwd 1340 000,0 1,0 1340,0
ohtiwpwpwlw bwhwgddwu htun Gwwyws
13111 uu w 100 000,0 1,0 100,0
Gl funphpnundwlwt Swnwjnignitubp m
wuywnnnbph YEpwunpngiw
50111300  |dwnwynipyniuubp, ubpwnyw)” dnuwnwdnud b uu npwd 100 000,0 1,0 100,0
hwywuwpwlonnid
64121200 thnuinh wnwpdwt dwnujnigniutbn uu npwd 99 000,0 1,0 99,0
70221500 ubinwuubiph Jwpdwlwnipjwu dSwnwjnipniu uu npuwid 70 000,0 1,0 70,0
hwowwwhwlwu hwdwywpgswihu
48441300 uu nnwd 990 000,0 1,0 990,0
dpugnuihu thwbiplbip
92421100  |PEMPERM huwytnwipwinnipinibh uu npwd 15 000,0 1,0 15,0
nwwgpiwl dwnwinipiniuttin
71351540 inbfuthywlwy hulnnnipwt Swnwynpniuubp Q< npwd 0,0 1,0 0,0
79211150 wnihnnpulw dSwnwniuyniuubp Q< npwyd 0,0 1,0 0,0
sotmzo  |Mdnndtpsulibni depuwtinpngdut uu nnwd 299 600,0 1,0 299,6
Swnwinienitbip
gasarrgp  |Ombdni2Uinh wwhuubidul uu nnwd 792 000,0 1,0 792,0
Swnwinuniubp

150 180,8




CLHUUELL

353 613,63




